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I. Fill each blank with an appropriate word or phrase:
1. Straws show which way the—Dblows.
2. If you go to Shanghai,—shall you stay?
2. Either my brother—my sister—sure to go abroad.
4. A blind man cannot tell black—white, or light—
darkness.
6. Some people travel on business, some—health.
6. No sooner had he gone to bed—a telegram was
brought in.

E‘g

7. The book,—I got this information, s alwavs regard-~

ed as authoritative.
8. Be careful of that man,—he will cheat you.
9. I must remind him to post this letter, lest he—it.

10. Unless he—to increase my salary, I-—not remain
in his employ.

11. If he—Dbefore me at this moment, I should—him
my opinion.

12. He was so shocked at the sad news that he—spoke—
wept,—went away in silence. :
II. Translate the following passages into Chinese:

What a lot of things there are for us to study. Science,
which tries to find out the way in which all things, living
and not living, work, helps us by means of this knowledge
to do things better and more efficiently. It helps us to make
engines and all kinds of machines, which add to our comfort
and lessen the labour required to manufacture things, so
that they become cheaper: trink of steam engines, cheap
printing machines, cold storage of food, and electric light.
It helps us to grow crops: think of improved seeds, and cheap
artificial manures. It keeps our cities healthy, and fights
disease: think of disinfectants and X-rays. It looks after
the safety of our sailors at sea: think of wireless telegraphy.

But, quite apart from all thess things of practical use,
it makes things much more interesting for us if we can get

=
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some little idea of the reason for puzzling happenings, and
can account for some of the wonderful ways of things which
we may notice if we keep our eyes open. The boy or girl
who knows nothing of science is like someone on a steamboat
who just sits on deck, and goes to sleep between meals.
The boy or girl who knows something of science is like
someons who has had a look round the engine-room, under-
stands how the compass is read, and has found out a little
about the steering wheel and the rudder.

Of course, the wise traveller will also enjoy the waves
and the wind and the starlit skies at night, and that reminds
us that there are other things in life than science, and then
the best of all is to be interested in everything, and notice
all we can, beautiful things and useful things and human
and moral things together.

II1. Write an essay on one of the following topics:
1) The Books I Know Best.
2) 'The Tea-house in My Native Town.
25 JRY AT
I. Rewrite the following sentences corrertly. Morve than
one error will sometimes be found in a sentence.

1. Who do you take me to be?
T have not and will not answer your question.
I am afraid of him falling.
He has went to town by the one o’clock train.
You or I are going.
I will not go without you accompany me.
He swim like I do.
Who done his work best of the two workers?
9. There was a row of students on both sides of the
corridor.
10. He jumped in quickly because he sees his sister is
drowning.

© N oo N
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11. T want a hot cup of tea and a fresh basket of peaches.

12. The crowd were already settling iteslf to hear a
good speech.

13. T only has three books.

14. Rushing up to the old peddlar, a pear was seized
by the bo ' 4

y Y-

15. Why you go to town so often? i

II. Write a composition in English on the subject “I had
an exciting time yesterday taking the Tsing Hua Entrance X
Examinations.”

=

IT1. Translate the following into English:

— AT B A B A2 o BB TR @3k
BYIEIR & AR R~ o JFZIS3E 1B 40 Wl S840 B B
IS o B £33 TR R B MRS 4. 58 A » 5 Y RLTF (R09 YR
o [HEEAIE BRI IS T8z > EFI50E o 55 ML il
BERRA L > MEFARAE T 35 —FE o AR T —IH 35 o JBfE—
KRS P37 — i) » ?Ejﬂf%;'éﬁiiﬁfﬁita’;z-ﬁﬁ%ﬂﬁ“% B{E
AH—EPURIE R > BREEF—AF o [T RIFERT
B> TR IR [ RN AL RIS
WHBWGE AR » B ANALSnBIRTA — BB FHER
2 Y A [ S >

1. Translate the following passage into Chinese:

The motive of clothing has been that of arnament and
protection from the pain of cold. The arnamentation of the
body was earlier in its appearance in human progress than
the making of clothing for the pretection of the body; and
after the latter came into use, ornamentation continued,
thus making clothing more and more artistic. As to how man
protected his dedy before he began to kill wild animals for
food, is conjectural. Probably he dwelt in a warm climate,
where very little clothing was needed, but, undoubtedly, the
cave man and, in fact, all of the groups of the race cccur-
ring in Europe and Asia in the latter part of the Old Stone
Age and during the New Stone Age used the skins of animals



B
X

4

for clothing Later, after weaving had begun, grasses and fibres
taken from plants in a rude way were plaited for making
clothing. Subsequently these fibres were prepared, twisted
into thread, and woven regularly into garments. The main
source of supply came from reeds, rushes, wild flax, cotton,
fibres of the century plant, the inner bark of trees, and
other sources according to the environment.

II. Trsnslate the fullowing passage into English:

rp BIFE WA £3 BRI BaY 6L, 2 — 8 IR sy . K
JL—TREAR B LAGE Sl et il » LBy B a2 ik ) %
B0 B U b a8, (R o, (R TRAERR I MR B A A 1t
JSBALSAT SRR > T A FeE » IR BIRBAK.

I1I. Write 2 composition of more than 100 words on
the following subject:

The Last meeting of our Club.

I. ‘.xt,}:ﬁt N3 ke (Konjugation) 7555 {HRESE !

a. Der Lehrer lobt die fleissigen Schuler.

b. Ein unartiges Kind wird von dem Vater getadelt.

IT. SO0 Ao f) e sl

AR BRI » RIS » il Mﬁlﬁ 2% (Ubersch-
wemmung) ZfEM, (A7E57 lriri;fx‘-iiéi tE 0 AT REIGE
(Samen susstreuen): i ©

III. st m4aph e (Verhaltniswort) 2560 o

a. Ein Kind geht in den wald.

b. Ein Kind geht in dem wald.

Hr AR

1. {E3CEITELAT S TSR L RE &5 1 —235 0 o

2. EREEBPERENI R o

3. ‘H I R85 R e i B CRR R D) -
a, Prasidtlr b, WK ¢ EEL

4. BFRGEIATRERUR A ¢ TRER T =4l o FRiBRne R
s (R B HRER G - 8180 T R o
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1. Translate the following passage into Chinese:

At the end of my first year at Hampton I was con-
fronted with another difficulty most of the students went
home to spend their vacation. I had no money with which
to go home, but I had to go somewhere In those days very
few students were permitted to remain at the school dur-
ing vacation. It made me feel very sad and homesick to
see the other students preparing to I8ave and starting for
home. I not only had no money with which to go home, but
I had none with which to go anywhere.

II. Correct the following sentences:

. Charles and Henry is friends.

. BEverybody has their faults.

. The first woman who 1 saw was Mary.

. He has hardly ever spoke to me.

. She turned her head and look at me.

6. Either my brother or my sister are suré to win.

Tt 0O DD

II1. Make sentences, each using one of the following
phrases: ‘

1. in the street; 2. against my will; 3. with difficulty
4. at home; 5. all night; all at once.

TSR B s _
I. Traduction

1. RM—FESMEcL | ARG R (RARILE ?
3. KR » KU » '}‘\{ﬂﬂi?ﬁﬂ} s 4. ARRETRIT
Pl—HRE - 5. B FALBHEIENGY ?
6. Le domestigue bdlale la chambre et la Cour.
7. Cinguante deux Semaines fout une aunee?
8. Combirn de personnes y-a-t-il dans votre famille?
9. Les eleves jouent dans la cour.
10. Combien y-a-t-il de saison dans une annee?
11. Allez-vous souvent voir vos grandsparents?
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12. Nous habitous une grande maison.
II. Grammaire
1. Analysez la phrase Suivante: Les rues sont pleines
de geus et de Voitures qui vout de tous Cotes.
2. Conjuguez les verbes suivants au present et au futur:
avoir—finir—rompre—etre—laver.
B o b 5ok s
II. Correct the following sentences :
1. To succeed, the process must be understood.
2. Leaving his home at an early age, John had lived
a life of hardship.
3. Today is as warm if not warmer than yesterday.
4. The reason he failed in his examination was be-
cause he did not study. &
5. 1 promised to take good care of the book and that .
I would return it promptly.
6. The boat seemed to hardly move.
7. 'The house was painted and the rooms papered again.
8. We ought not forget to make the boys to study
harder.
9. When only a few months old, her mother died.
10. You have better wait him and listen at what he
has to say.

III. Fill each of the following blanks with one word:

1. It seems beyond doubt that the Chinese are—an
increasing interest in the use and—of airplanes.

2. Let us prepare—the worst but—for the best.

3. I—him he was mistaken; he—my pardon, and said
no—.
4. When 1 call—you to-morrow morning, we may talk
—+the matter and see what can be—.

5. He was born—June 24th,—six o’clock—the morning.

6. He sat—her—dinner.

7. 'T agree—him—the subject.
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8. I think he would be very much—if he knew—what,
—happened.

9. As I sat very near them, I could not—hearing what
they—saying.

10. 1 am always—whenever 1 see a young mother—her
baby—her arms.

IV. Translate the following into English :

5 LT . 1 — R BT A R, i B KSR
2 8y, Wl 0K, SRS, AR AE G, MR ER LR,
ARG, BB EKY, MEEEA LnRRE% GEE
B, FE 9 AR EA RO, (B FE—TE S 20, 5% ST
BT - LRI T A WO S kvt 108
s WU RE, B ORM BT —RY A0S f 0K Sah i
Wik,

V. Translate the following into Chinese:

The traditional civilization of China had_become unpro-
gressive, and has ceased to produce much of value in the
way of art and literature. This was not due, I think, to any
decadence in the race, but merely to lack of new material.
The influx of Western knowledge provides just the stimulus
that was needed, Chinese students are able and extraordi-
narily keen. Higher education suffers from lack of funds
and absence of libraries, but does not suffer from any lack
of the finest human material. Although Chinese civilization
has hitherto been deficient in science, it never contained any-
thing hostile to science, and therefore the spread of scientific
knowledge encounters no such obstacles as the church put in
its way in Europe. I have no doubt that if the Chinese
could get a stable government and sufficient funds, they would
within the next thirty years, begin to produce remarkable
work in science. It is quite likely that they might outstrip
us, because they come with fresh zest and with all the ardor
of a renaissance. In fact, the enthusiasm for learning in
Young China reminds one constantly of the Renaissance
spirit in fifteenth-century Italy.

x
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B or b zp 6h 5 oKk B

I. 1. Give the plural of the following nouns:- -

(a) Ox (b) Glass (c¢) Fly (d) Penny (e) Thief
(f) Proof (g) Motto (h) Louse (i) Salmon (j) Dozen

2. Give the principal parts of the following verbs:-

(a) Arise (b) Bear (c¢) Bind (d) Drive (e) Lie
(f) Sink (g) Smite (h) Hang (i) Saw (j) Win

3. Make a sentence with each of the following words
or phrases:-

(a) Allbut (b) As (c¢) Asto (d) Butthat (e’ Can-
not but (f) Far from (g) Other than (h) While (i)
Rather (j) Wherewithal (k) Down (1) To be sure
(m) Care of (n) Yet (o) Only (as adjective) (p) Only
(as adverb) (q) Only (as conjunction) (r) Somewhat
(s) Just (t) Need

II. Write a composition on any one of the following
subjects:- .

(1) My Journey To Peiping. (2) Knowledge Good and
Evil. (3) School Examination. (4) Our Midautumn Festival.
(5) Teaching as 2 Profession.

ITI. Translate the following passage into Chinese:-

Advices, I believe, to young men—and to all men -are
very seldom much valued. There is a great deal of advising,
and very little faithful performing. And talk that does not
end in any kind of action, is better suppressed altogether.
I would not, therefore, go much into advising; but there is
one advice I must give you. It is, in fact the summary of
all advices, and you have heard it a thousand times, I dare
say; but I must, nevertheless, let you hear it the thousand
and first time for it is most intensely true, whether you
will believe it at present or not—namely, that above all
things the interest of your own life depends upon being
diligent now, while it is called to-day, in this place where
you have come 1o get education.
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I1. Translate the following passages into Chinese:

(1) It is easy to write a history of Greece and Rome
or the Middle Ages, because the actors who played their

parts upon that long-forgotten stage are all dead. But it

is very difficult to give a true cccount of contemporary
events. The prcblems that fill the minds of the people with
whom we pass through life are our own problems, and they
hurt us too much or they please us too well to be described
with that fairness which is necessary when we are writing
history.

(2) We can get from the reading of science not only
new things to think abcut, but, what is more important,
new ways of thinking about things. Any one who desires
to keep in tcuch with the progress of the world naturally
wants to know in a general way what is being done in the
various fields of science. RPut, unfortunately, he does not.
find it so easy to follow current movements in science as
he does in literature, art, music, politics, and other forms
of human activity.

(3) 1If then a practical end must be assigned to a

university course, I say that it is that of training good .

members of society. Tts art is the art of social life and
its end is fitness for the world. It neither confines its views

=
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to particular professions on the one hand, nor creates heroes
or inspires genius on the other.

I11. A). Correct the mistakes in the following sen-
tences:

1. If I started from home at six I might have catched
the earlier train.

2. The examiner is not satisfactory with the results
of the candidates.

3. In spite of he is sick he comes to attend my lecture.

4. There we landed and having eaten our lunch the
steamboat departed.

5. The general, as well as his soldiers, are quite willing
to fight with the enemy.

B). Fill the following blanks with suitable words:

1. No student—to make any noise when the teacher
is speaking.

2. I will give a prize to—can do the work successfully.

3. His father left him to his own inventions—he was
of age.

4. T saw him walking—the corridor a moment ago.

5. He seemed indifferent—every proposal made by the
other members of the society.

B 5L o iy ok S

1. Write a composition on one of the following subjects:

1. Meass-Education in South China.

2. Reliet-works of the Government for the Sufferers
in the Flooded Districts

3. Do the gir]l Employees of Canton constitute a menace
to the male-workers and a blessing to the women?

4. How I am affected by the ruin of the Kwangtung
farm-heuses. .

II. 1. Give the Past tense and past participle of the
following words:

Present tense Past tense Past participle
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lie (tell a lie) lie (intransitive) lay (transitive)

(53

(1)
(2)
(3)
(4)
(8)
(6)
(7)
(8)
(9)

(10)

(11)
(12)

2. Correct the following sentences:

The dog laid down at once.

Let the books lay where they are
They were laying on the floor

I quite approve of you going

I expected to have found him better
I meant to have written to you
“The sun has rose and gone to bed”.
I do not care whom he is

The tallest of the two men returned back yesterday
Avid those kind of things

This here pen does not belong to me.
Flowers were planted on either side.

3. Re write the following sentences correctly:

(1)

It was unkind of him to have gone without say-

ing farewell.

(2)

(3)

(4)
party.

Her eyes are so painful, she cannot see to sew. .
He is one of the wisest that has ever lived.
Neither John or James are going to Mr. Smith’s

4. Give the correct answers to the following questions

(1)
(2)

Shall you be at home to-morrow?
Will you do it?

Justify and explain the using of between and among
in the following sentences:
(1) The work was divided between the two men.

(2)

She distributed the sweets among the six children.

5. Supply all capitals and punctuation for the following:

(1)

Socrates recommend to one of his disciples this

prayer a jupiter give us those things etc.

(2)

The leading questions on which you must decide

are those two first whether you ought to concede and sec-
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ondly what your concession ought to be.

(3) A clause is either independent or dependent inde-
pendent if it forms an assertion by itself dependent if it
enters into some clause with the value of a part of speech.

HFE BRI 3R I B AL
WA B TR LR o #EWGEEA Y » AR o f—sRER
25 5 LB IR AT— TR S AR I TSE T Sk > B R
BEPRAE —BLIS S o W —UEAR R 22 > IOy B TR R
R ko EANCEUE > gl > AT o e T

» BRIk LTI  HRIEMARE L BRI FEELR
» I3 EE o (AP TaviE T JIBE A » R R ok
FEAF LM MG > SERE T 2% LR Aol » e R
TIE 0 BT W 2% —URE—-TEEF Lo UG EE
BT FAE o
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I. Bilde Satze mit Anwendung der Genannten Konjunk-
tionen:

a. Die Eltern mache es vor; die Kinder machen es oft

nach (wie-so0).

b. Die Arbeit ist schwer; die Freude uber den Erfolg
ist gross (je-desto).

II. Bilde Imperfekt und Perfekt von folgenden Satzen:

a. Mein Onkel zieht ein Los.

b. Ein Bienchen fallt in einen Bach.

¢. Der Hund beisst das Kind.

d. Der Techniker erfindet ein neuss Flugzeug.

ITI. Benutze in folgenden Satzen (wer) oder (was):

a. Wenn einer nicht ho en will, muss er funlen.

b. Das Neue ist nicht immer gut.

IV. Verwandle die direkte Rede in die indirekte Rede:
a. Mein Freund schrieb mir: (Ich werde bald kommon.)
b. Der Schuler sagte zu dem Lehrer.
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V. Benutze (ohne zu) oder (anstatt zu) in folgenden
Satzen:
a. Er ging voruber und grusste mich nicht.
b. Er arbeitete nicht, sondern verschwendete sein Geld.
VI Schreibe einen kurzen Aufsatz: Meine Vaterstadt.

Bl Sroh 3ok B

1. Translate the following into Chinese:

Our ship was of about one hundred and twenty tons.
There were in the ship six guns, the chief, his boy,
fourteen men and myself. We had no goods with us other
than playthings which were needed for our trade with the
black men, such as neck ornaments, bits of glass and things
of litte value—small looking glasses, knives, scissors, wood-
cutting instruments, and so on.

2. Write a short composition on “Doing one’s duty”
B oSr WO ok B

I. Translate the following passage into Chinese:

But let us go a walk on the boulevards. They are
filled with people langhing and chatting, There are many
fashionably dressed men and women moving along arm in
arm. There are laborers in blue cottorn walking this way
and that. Newsboys are crying their papers, girls are
peddling flowers and hawkers are selling pictures, toys and
all sords of knicknacks. We pass crowds of people eating
and drinking out on the sidewalks. There are cafe’s at
every few Steps, and most of them have more Customers
without than within. TFamilies are Chatting as they eat and
drink. Tany men are reading the papers, and not a few
boys are playing dominoes at sables out in the street.

I1. Write a composition on: a Morning Ramble

Bl SE WP I0 ok 8
I. Correct the mistakes in the following sentences:
1. Let me to tell you a story.

o
C:}
X
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He was very sorrow and grief.
You should buy as much books ss you can.
He made me to lose my temper.
Few minutes latter he made all us laugh.
I haven’t some excuse to offer for my much faults.
I have acquainted with Mr. Wong for three years.
Mr. Liang is unhappy for the szke of his failure.
At the meantime Mr. Lee left Nanking to Harkow.
The little girl is enough pitiful to make me cry.
Fill in the following blanks with appropriate words:
We knew him...a glance as soon as he came...sight.
2. 1 will stand...you...this matter; the difficulties will
dlsappefu' one...one.
3. He was bruised.. .head...foot; but he is now free...

PPN O
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danger.
4. No soorer had he gone to bed...a telegram was
brought in.

5. His success is the more creditable,...he had no help

from any one,...many offer to help him.

6. The robber fled...he heard the shouts; but he
escaped...any one had time to see his face.

7. He believes that the past...(determine) the present
and that the present...(determine) the future.

8. You...(be) stronger last year than you...(be) now.

9. When I...(go) to visit my sick friend, I learned
that he...(be) very much better.

10. No one could foresee that the voyage of Columbus...
(lead) to the opening up of a new continent.

III. Write twenty sentences with the following words
and phrases: _

1. set 2. laid 3. raise 4. become 5. consider 6.
apart from 7. bargain with 8. control over 9. interest in
10. with reference to 11. by means of 12. in behalf of
13. capable of 14. superior 15. at all 16. of course 17.
in spite of 18. bring about 19. give in 20. make up .
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IV. Summarize in your own words, in English or in
Chinese, the central idea in the following passages:

To realize that men are not satisfied with themselves
requires imagination, and we have had a terrible example
of what misfortunes come from the lack of imagination.
The Prussian militarists had a painstaking knowledge of
facts, but they had a contempt for human nature. Their
tactlessness was almost beyond belief. They treated persons
as if they were things. They treated facts with deadly
seriousness, but had no regard for feelings. They had spies
all over the world to report all that could be seen, but they
took no account of what could not be seen. So, while they
were dealing.

V. Write a composition of not more than 500 words on
one of the following topics:

A. My Happiest Experience during High School Years.

B. Cne of the Most Beautiful Places I Have Visited.

C. The Story in Brief of My Favorite Novel (either a
Chinese or a Western novel).

D. What I Like to Do when I Become a University
Student.

5 A= SR N

I. Correct the mistakes in the following sentences:

1. John comes to here with my older brother.

2. She looks very sadly because his father’s sickness

3. I drink a grass of wines.

4. She is cne of those people who is always founding
fault.

5. The question of whom should be leader arised.

6. When she said that to my sister and I, we couldn’t
helping laugh. '

7. He is happier then me.

8 I get up in six O’clock

9. My brother wrote me that he will start to America
by the next steamer.

H
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10. I will glad to help you.
11. He behave as if he was crazy.
12. A number of accident occurs now. ‘
13. Which does he thinks is the worst of the two?
14. T don’t believe 1T will be able to go. I feared I would
fail.
15. If this was Wednesday, 1 can go with you.
16. His old rich uncle has leaved him large estate in
Wenchow.
17. The much you read, the well you can write.
18. The sun rose from the east every morning.
19. His sight has become so weak, he could see only
indistinctly.
20. 1 prefer working than doing nothing. Your strength
is superior than his.
II. Translate the following passage into Chinese:
“Perhaps the greatest defect in our educational system
is aptly sumined up in the two coramon sayings: “What we
have studied is not what we use and what we use.is not
what we have studied”; and our graduates “do not know the
world”. Doth of these criticisms point to the lack of contact
between our schocl life and the life of the world ocutside.
As a resulf, our business men are usually reluclant to emvloy
students, and consequently we are spending or money to
turn out, among those who leave the school every vear, a
number only to fill the ranks of the unemployed”.
III. Write a short composition on one of the following
subjects:
1. A Journey to Shanghzi. 2. My Family.
A R
I. Copy the following paragraph with the necessary
punctuation marks and capital letters:
do you want an american in the list lincoin better than
any other sesmed to me to embody the essential characteris-
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tics of america he stood for equality of opportunity for the
right and the chance of the child of the humblest home to
reach the highest place his simplicity his humor his patience
his deep-abiding optimism based on the conviction that right
would prevail all these seemed to typify the best that am-
ericc had te give mankind but against those three who are
enduring symbels of brotherhood and individual divinity of
service in self-forgetfulness and of the inteliectual synthesis
of mankind what was rugged abraham lincoln do you really
want an americen in the list yet america is still young.

I1. Write ten sentances each containing one of the fol-
lowing words:
1. council 2. counscl R, instanee 4. instant 5. later 6.
latter 7. literal &. literary 9. respectfully 10. respectively

IT1. Copy the fuilowing sentences with the necessary
correciions:

1. I have always been interested in engineering, and
1 have decided te bacome one.

2. Yestercay I lay the Look here.

o If he had come here yesterday, he would {ind no
one here.

4. There was a heavy rainfall cccurred that aiternoon.

5. suhin 15 & heclihiul child.

6. He knew nothing of th2 war nov of the tragedy
at home

7. Eithcr the door must be closed or put out the light.

8. Entering the museun, two stone lions are seen.

9. It looks like it might rain tomorrosy.

10.  When still a boy, his father moved fo Nanking.

1V. Copy the following sentences with approprizte words
inserted in the blanks:

1. In Germany workers specialize—a certain kind of
work. ‘
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The mother was far different—her daughters.
Divide the remainder—us two.

He does not agree—this proposal.

He is sick—his work.

Would you go if you—in my place?

No socner did he flee—he was pursued.

You had better—quiet.

I must see the contract in-—and white.

He gave himself—to study.

XN o~ N
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V. Write a composition on one of the following subjects:

1. What I Consider to be the Requisites of a Good
Engineer.

2. The Present Flood in China.

3. The Present International Situation and China.

ET R I N
I. Write an essay on one of the following subjects:
(&) A hot day. (b) A river flood.

II. Translate the section below into Chinese:—

Advices, I helieve, to young men-and to all men-ars very
seldorn much valued. There is a great deal of advising, and
very little faithful performing. And talk that does not end
in any kind of action is better suppressed altogather. I
would not, therefore, go much into advising; but there is one
advice 1 must give you. It is, in fact, the summary of all
advices, and you have heard it a thousand times, I dare say;
but I must, nevertheless, let you hear it the thousand and
first time, for it is most intensely true, whether you will
believe it at present or not-namely, that above all things
the interest of your own life depends upon being diligent
now, while it is called to-day, in this place where you have
come to get education.

I11. Analyse the following sentences:—
(a) Your teacher, Mr. Cheng, will help you only when
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it is necessary, but you have to do the work by yourself.
(b) You will not succeed unless you work hard, and
if you do not succeed every one will blame you.
IV. Correct the grammartical errors of the following
sentences:—
(a) I will written you whenever I had leisure.
(b) He gave many moneys to the beggars now.
(¢) I have little friend of this place.
{(d) My iriend go out by the house’s door.
By or kR T OB BT
I Answer any three of the following questions:
(1) a. Define “Mood.” How many moods are there in all?
Mention then.
b. Read over the following sentences carefully and ex-
plain the use of each mool in each of them:
1. We aitend our entrance examination to day.
2. Awaice, arise, or be for ever fallen.
3. 7ro to thHe ant, thou sluggard; consider her ways and
e wise.

4, A large number of men, say a hundred, are working -

on the railroad.

5. If I were to meet him, I shounld know him at once.

6. Whether he allcro me or not, I will go to him.

c. How is the Past Participle used? KExplain the uses,
at Irast hwoe, clearly and give one example in a complete
for each of them. .

d. Fill blanks with proper participles in the following
sentences:

1.—zalong the street, T met a friend.

2. The letter,~——to the wrong house, never reached me.

3.—to the left, you will find the place you want.

4.—what you say, I still think that you made a mistake.
(2) a What is the difference between the Strong and the
Weak conjugation of verbs?

G|
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b. Give principal Parts of the following Verbs:

Chide Mow Bring Forsake Strew Teach Cling Dwell
Let Stick Speil Spit.

c. What is the difference between the Co-ordinative
and the Subordinative Conjunctions?

d. Read over the following sentences carefully and
point out the use of cach conjunction in each case:

1. He was Lot degraded and expelled.
He was not only accused, Jui also convicted.
Either this man sinned o> his parents.
. All men were against him; nevertieicss e persevered.
Wise men love truth; whereas or wiiie fools shun it.
He was found guilty, therefore he was hanged.
. I will do this, since you desire it.
They threatened to beat him, unless hz confessad.
. He will never succeed, Ziowever much he may try.
. He remained a minor, until he was saventeen vears old.
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Insert prepositions or phrases in the blank placas:

®
oy

. He went—his work in esrnest.

Thay won the day, but only—hard fighting.
He is acting-—his own interests.

Your actions are not—common sense.

He is fond of rambiing—the tress.

N

%

ho 1

Tell me all you know—that matter.

e

There is a smile—his frown.
. —his hard work, he may be allowed another chance.
. His conduct is—contempt.
. He is senior to me—age, but not of service.
. This is—endurance.

12 —all the advice that I gave him, he took to the pra-
ctice of smoking.

Il
=R =]

b. What is the difference between the direct Narration
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and the Indirect Narration? Explain clearly and gi - one
example in a coraplete sentence for each kind of Narration.

c. Change the following from Direct to Indirect and
Indirect to Direct:

1. “What do you mean? asked the man; “how can a rope
be used for binding four?” “A rope may be used for any
thing,” replied the man, “when I do not wish to lend it”’

2. The governor of the town then called out with a loud
voice, and ordered Androcles to explain to them how a
savage and hungry lion could thus in a moment have
forgotten its innate disposition, and be converted all of a
sudden into a harmless animal.

(4) a What do you mean by “the analysis of a sentence”?
Explain clearly.

b. Analyse the following sentences:

1. The merchant, having much property to sell, carised
all his geods to be conveyed on camels, there being no rail-
way in that particular part of the country.

2. A gentleman of wealth and position, living in London,
sorre gixly yeors ago, had a country seat in Kent, some
forfy miles from the metropolis.

c. What do you mean by “the synthesis of a sentence”?
Explain clearly.

d. Combine the following Simple sentences into one
Compound sentence:

1. The cat is meek. The cat is silent. The cat is sly.
The cat is cruel. The mouse runs away at the sight of the
cat, The mouse enters into its hole.

2. A brave and honest man will speak out. He will not
be afraid of the consequences. A timid man may keev silent
at the time of danger. He may tell falsehocds. He is afraid
of some harm coming to him.

II. Write a composition on any one of the themes:

=
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1. The Importance of Mass Education.

2. Memories of My Days in the Middle School.

3. A Day at the Joint Examination of the Middle
School Graduates,

III. Translate the following selection into English:
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1. Dictation.-H. B. The Examiner will be supplied with
a sheet of paper containing an extract to be read to the
candidates in ten minutes.

II. Grammar:— Write sentences, illustrating

1. A Verb in the Past Perfect Tense. 2. A Verb in the
Subjunctive Mood. 3. An Adverbial Clause. 4. An Adver-
bial Phrase. 5. A Relative Pronoun used as an Object. 6.
A Noun Clause used as the Subject of a Sentence. 7. An
Infinitive used as an Adjective. 8. An Infinitive used as a
Noun. 9 & 10. A Co-ordinate Sentence containing Clauses
which are Complex.

111. Composition. {about 200 words)

Subject: “The New Life Movement”
o By oo DA RS

1. Orthographe et Grammaire

II. Explications Grammaticales

1. ait vecu: vient de quel verbe. donnez le present de
Pindicatif, Uimparfait, le passe simple et le pius que fait au
subjonctif.

2. Retint: vient de quel verbe? Donnez le futur simple,



23

le futur anterieur, le conditionnel present et passe de ce verbe.

3. Eut pu: Quel temps de quel verbe? Donnez le futur
simple, le futur anterieur, le present et V'imparfait du
subjonctif. :

4, Ait eu: vient de quel verbe? Difeo a quel temps et a
quel mode.

5. Peut-etre: de quelle sorte de mots?

¢. Expliquer les mots suivants: Suede, oppose, approcher
de, congue rant, prince, gouvernement. liberalite, dur.

ITI. Redaction

Racontez, a votre choix, un voyage par chemin de fer
ou par bateau: le depart de la gare ou du port, les incidents
du voyage ou le passage, 'arrivee.
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I. Rewrite the following sentences, correcting ali errors:
(a) He is one of those men who talks much and thinks
little. ’

(b) I feit so badly last night that I could not write
my composition.

(¢) It was Franklin Who said that honesty was the
best policy.

(d) She has invited all of we boys.

F
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(e) I do not know which of these kind are the bost.

II. Translate the following paragraph into Chinese:

There need be no international jealousies in the com-
petition for the wonderful trade, China will have to offer,
as there will be room for all, so long as each country is
willing to play the game fairly and with consideration for
the rights of all, including those of China. China needs
help in reforming its currency, in building its railways, in
developing its mineral wealth, in rebuilding its cities, in
effecting an administrative system that will accord its people
opportunties for industrial and commercial expansion under
a system guarantecing to the individual the fruits of his
legitimate labors, and in the giving to the masses the
common-school education essential to the development of an
enlightened public opinion. In a word, China nezds foreign
assistance in the development of its patent resources in men
and materials. From this development will spring marvelous
opportunities in trade, probably greater in extent than those
offered elsewhere. A strong, independent, self-veliant China
possessed of progressive ideals will prove a blessing to
humanity. It behooves the West, in its relations with
China, to work on broad, sympathetic lines, in a spirit of
cooperation rather than competition, with a vision for the
future, as the day will come when the Pacific will be the
world’s great areca of trade and commeres, and that trade
will onty be worth while and a biessing il built upon a
foundetion of friendship and good will.

III. Write a composition of about 400 words on the
following subject; Advantages of an Engineerving College
Education.

T YA A R S

I. Translate the following paragraph into Chinese:

“Tarly in the history of modern Euvrops, international
relations became important from an economiz, as well as
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political, point of view. Commerce led to the establishment
of traditions and customs in the dealings among nations.
These were embedied in diplomacy and international law.
Treaties of friendship and commerce were sought as a means
of reciprocally guarnteeing the interests of nationals. When
migratory conquests ceased, when religious and dynastic wars
ended, when nationalist movements reached and accepted the
limits imposed upon them by geography and economics, it
was reasonable to suppose that the state of peace attained
within the great political organisms might be extended to
the European community of nations.”

II. Write a theme on eiter ONE of the following topies
{not more than 300 words):

(a) Why I Study Law?

(b) What China Reallv Needs Today ?

III. (A) Correct the following sentences:

1. Although he is poor, but he is honest.

2. Beware of life’s shortness.

3. Few remarks from him will not he out of place.

4. Having failed in his examination, no further attempt
was made.

5. We should refrain to do evil.

6. Do not prevent me to werk.

7. Hs asked that how long you would be absent.
8. No sooner he heard the news, he went aloud.
9. Men work because they may earn a living.

10. Is the sky clear today? Yes, it is not clear.
(3B) Fill up the following gaps, taking care to use the
right word in the right place:

1. The...that he has committed are owing to certain

serious...in his character. (dofects, faults)

2. A miser can easily satisfy his..., but can never
satisfy his.... (needs, desires)

3. It is our...to support our parents; but we have no...
to support our neighbor’s parents. (duty, obligation)

4
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4. In autumn the flowers begin to..., and the leaves
to.... (wither, fade)

5. A..diet helps to make a man.... (wholesome, healthy)

6. He sent a...to my letter; but this contains no...to my
question. (answer, reply)

7. Men are...how to act when they are...what is going
to happen. (doubtful, uncertain)

8. ...studies have been much recommended in...years.
(modern, recent)

9. He was...with his purse, and had...feelings towards
all men. (liberal, generous)

10. He...on his journey, but he had not...far, before
he was again stopped. (advance, prodeed)

(C) Fill up the gaps with the appropriate prepositions:

1. Let me beg pardon...you. I beg...a little encourage-
ment...you. (from, of, for) *

2. He acted in accordance...instructions. According...
what you teli me he must be very clear. (with, to)

3. 1 concur...you...that matter. (with, in)
I am not responsible...you...what I do or say.
He is tired...waiting. e is tired...his exertion.
He plays well.. .cricket; she play well...piano. (on, at}
I am obliged...you...that kindnesss. (to, for)

8. We must be prepared...disaster. Let us be prepared
...action. (against, for)

S oo

9. Though he lives...a small income, he lives...honest
labour. (on, by)
10. A creditor has a hold...his debtor. Take hold...
that chair. (of, on) '
Bl 3L BU W #K Al O B K
I. Explain the following words in Chinese:
Comfort, Freeze, Remember, Poems, Disobey, Throat, Society.

II. Write sentences with the following Phrases:
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According to; look for; as soon as; arm in arm; because
of; in spite of; >

III. Fill in the following blanks with “shall” or “will”.

1. —he be excused from class?

2. I-—not help you, as you are a lazy fellow.

3. They—go, though I have told them to stay at home.

4. He—be twenty years old next month.

IV. Develop the following sentences into a paragraph.

1. Any one who wants to achieve success must work
hard. 2. China can be saved only through the New Life
Movement.

5[ A (2 S O TR = S LY 3
I. Make sentences with each of the following words:

1. however. 2. beautifully. 3. extraordinary.

4. as long as. 5. in spite of. 6. in order to.

7. other than. 8. arrived at. 9. depend upon.

10. one another.

I1. Insert a proper word in the places indicated by—.
1. The younger brother is—than the elder.

2. DBad health is a more—enemy than poverty.

3. That book has—me greatly.

4. Everything is in—order.

5. His manners are far—pleasant.

6. Are you—to the meeting to-day?

7. T am a passionate—of good poetry.

8. All men are mortals; so he will—some day like.
9. the rest of us.

III. Translate the following paragraph into Chinese:
“The delights of books”
There is oriental story of two men; one was a king,

who every night dreamed he was a beggar, the other was a
beggar, who every night drzamad h2 was a prinz2 anl lived

st
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in a palace. I am not sure that the king had very much
the best of it. Imagination is sometimes more vivid than
reality. But, however this may be, when we read (BOOKS)
we may not only be kings and live in palaces, but, what is
far bétter, we may transport ourselves to the mountains or
the seashore, and visit the most beautiful parts of the earth
without fatigue, inconvenience, or expense.

IV. Write a short composition on the following subject:
“My Home Town”

ARt R v s i A N 3
1. Why do you want to enter our school?

2. What is your aim to get the physical education?

Sl O B M
1. Correct the errors in the following sentences and
give in each case your reason for the correction:
(1) Who, may I ask, do you with to see?
(2) All the teachers think the best student to be he.
(3) Will T toll them that you are waiting?
(4) 1 saw a bird in a beautiful cage which he bought.
(5) Last night he promised that he will come over
to-day or to-morrow.
(6) Do you cbject to me going to theatre to-night?
(7) 'This iz one of the warmest, if not the warmest,
day that we have had.
(8) Coming late into the classroom, the fteacher is
angry.
(9) Three days passed since I had arrived here.
(10) This is a very good mnovel and which I advise
you to read.
(11) My new watch keeps the best time of any other
I own.
(12) It is strange that he should have neither love
nor interest in music.
(13) He did what others have and are doing.
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(14) He told his father that he would get a letter.

(15) After pointing out my errors, I was dismissed.

2. (a) Compose sentences showing the uses of the
Noun clause.

(b) Define and illustrate:
1. the Loose sentence; 2. Periodic sentence;
3. Balanced sentence.

©

3. Write a composition of not less than two hundred
words on either of the following two subjects:

(a) Why I Wish to Enter The Mercantile Marine
College. (b) The Most Pleasant Voyage I Ever Made.
BN E WK B
I. Correct the mistakes in the following sentences:
1. You cannot go out for lack an overcoat.

2. This room is great enough for ten desks which are
made in wood.

3. Two kittens hatched cut and three chicks were born
last night.

4. 1 was interesting in vour speech yesterday.

5. He complains me for I have not called him for
two meonths.

6. I would have told you, if I know it.

7. Opening a window a snake is seen on the grass.
8. To go on a trip with those boyvs are delightful.

9. The woman who is the waiter of that restaurant
and wearing a white hat.

10. If 1T was you, I would go to Nanking where is our
capital.

II. Give the plural forms of the following words:-
goose, louse, pie, berry, ray, Mango, Curio, roof, wolf,
father-in-law, pants, cattle, species, alumna, scenery,
hacterium.

I11. Analyze the following sentence:

The miners who go down a thousand feet into the earth,

F
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and bring forth the precious metals to be poured into the
channels of trade, are as much business men as the few
financial magnates who corner the money of the world.

IV. Write an essav on “Happiness” (about 500 words)

Z R A L N

I. Supply the correct form of the verb in each of the
following sentences:

1. I wish I (be)—rich enough to buy all these books.

2. T wish he (go)—with us yesterday.

3. 1t looks as if it (rain)—.

4. The old man was tired and (sit)—down in the chair.

5. The temple (bolong)—to the monk; that is why he
stays there.

6. When I arrived he (be)—here six days.

7. If you had gone early, I (come).

& The students (wellcome)—General Chiang when he
arrived in the city.

9. we went home after we (finish)—the examination.

10. Though he (tell)—the truth at that time, they
would not have believed him.

II. In the following passage, surm!v @ or flie where
necessary. The tree fell down last nigt  This branch of
tree. I found it lying on ground. T have Lnf off twiy with
knife. This is knife. Heve is leaf. Give me leaf. Put it
on desk. Bring glass of water and nut leaf into glass.

III. Write ten sentences. In each use one of the follow-

ing terms:

1. instead of 4. for the aske of 7. because of

2. till dark 5. for the preszent 2. in addition to
3. on account of 6. in front of 9. by nature

10. belangs to
IV Capitalise and punctuate the following parcgroph:
The principal peculiarity of professor colling was absent-
mindedness this often led him to mislay or loss articles
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necessary to his business such as books lecture notes etc one

day as he and another professor wers walking down a street

in the village in which the college was situated professor

collins suddenly stopped looked disturbed and said why my

notes for to-day’s lecture have disappsared oh that’s all

right said his friend smiling give an imprompty lecture.
V  Correct the foliowing sentencos

1. We are very liks to see her to dance.

2. When the sun shined, the children fell happily.

3. We are very sorry that he have been hurted by
the motor car.

4. After he went to French, he was learning painting.

5. The book that I lent from you is more interested
than mine.

6. Since the last test he studies hardly.

7. It is quite cold now. You have batter to put on
more cloth.

& T shall be very happy if I pass the examination.

9. Every morning we riss the {lag ansl every evening
we lower if.

10. The furniture in this building are very different
with the other building.

VI answer the following quesiions:

1. Will you go to Nanking with mo? Yes,...............
2. Are not these apples from Manchuria? No,......
3. It wasn’t so cold this morning, was it? No,.........
4. The captain is starting for Japan, sin’t he? Yes,...
5. It wasn’t so warm this morning, was it? No,......
B. Complete the following sentences:

1. When we heard that sad news,....c..cocoevvviieinennine
2. After they had waited a long time,.....c.ccoevveennnnin
3. If you always treat others kindly,......ccoeriiieninns
4. If nothing had happened yesterday,........ccceeeerennen
5.

I shall not go until.....cooeviiiiiii i
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VII Give the Chinese meaning for the following
terms:

Extraterratoriality, Board, of Iiducation, Principal,

League of Nations, Nazi.

VIII Write a letter to your father telling him briefly
the time, place, length, and difiiculty of this examination.

A O5r o ook B
I. Translate into English:-

(D) R BRI — (i N 0?2 (2 T R4 A 0P ALY .
(3) (R S kg ? (OB EREE- B2V L.
(6) Rty BEBL ALY (6) ZRERAE I, SBa Fo-1oN sk BJi 16y,
(DFROGARYEIRIL SR EE? BV KA ZTITELA
O IBRARTEBYE AR GRS (L0NERRYE T,

II. Insert the appropriate words in the following par-
agraph:-

There—, in ancient times, in—city of Balsora, o tailor
—was fond—pleasure and merrymaking. He was in the—
of going—into the city—his wifa——that they might amuse
—,  One—when they were—hom2 they met a cheerful little
hunchback the—sight of-—would make the sorrowful laugh
and—drive away care, —they went—him and invited him
to—home with—to supper.  He accompanied them to their
—, whereupon the tailor went-— —the market place and—
fried fish and bread—their evening meal.

IIT. Construct ten sentences with the follewing words:-

(1) Wherever., (2) Whom. (3) Whatever. (4) AMight.
(5) Have been. (8) Now and then. (7) What...l (8)
Should have. (9) Without. (10) Up to.

IV. Write a short account on the Industry of Shansi.
O AR ) I i N

1. Correct the mistakes in the following sentences, if
any, and give the rule for each;

a It could not be use that he meant.
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b Will you please to excuse me for being late this
morning ?

¢ You shall have pretty rough weather on your journey
at this time of the year.

d This is more interesting story than any I have
heard.

e The fact of his being in the Company does not prove
that he is one of them.

2. (A) TFill the blanks with prepositions:

a There is a great demand—rice.

b Can you tell what this pronoun refers— ?

¢ The teacher exercised a great influence—the students

d T take little interest—history.

e The government laid stress—education.
(B) Complete the following sentences:-

a If to-day were Sunday—.

b Had I heard it earlier-—

¢ If the second world war should break out next year—.
1 No sooner had I done the work-—.
e Tired as T am—.

~

3

3. Translate the following into Chinese:

It happened one day, about noon, going towards my
boat, I was exceedingly surprised with the print of a man’s
naked foot on the shove, which was very plain to be seen
in the sand. T stood like vn2 thunderstruck, or as if I had
seen an apparition, I listened, 1 looked round me, T could
hear nothing, nor sse anything, I went up to a rising ground,
to look father. I went up the shore, and down the shore,
but it was all one; 1 could see no other impression but
that one, T went to it again to see if there were any more,
and to observe, if it might not be my fancy; but there was
no room for that, for there was exactly the very print of a

B
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foottoes, heel, and every part of a foot. How it came thither
1 knew not, nor could in the least imagine. But after in-
numerable fluttering thoughts, like a man perfactly confused
and out of myself, I come home to my fortification, not {feel-
ing, as we say, the ground I went on, but terrified to the
last degree, looking behind me at every two or three steps,
mistaking every bush and tree, and fancying every stump
at a distance to be a man; nor is it possible to describe
how many various shapes affrighted imagination repres-
sented things to me in, how many wild ideas were found
every moment in my fancy, and what strange, unac-count-
able whimsies came into my thoughts by the way.
(4.) Write a composition about 150 words on one of
the following subjects:-
(a) Compare China With The United Stiutes of America.
(b) Bilography of Dr. Sun Yat-Sen.
(¢) The Importance of military Training in Chinese
Schools.
& SL M dE ok
(1.) Writeashort Composition on “new Life movement.”
(2.) Diagram the following seatences:
T know that you are my friend.
T beg to inform who came here to day.
Thsat is the boy who broke our window.
This is the house which he bought.
We saw the carrisge which they came.
The boy gave no reason why he had done that.
When the cat is away, the mice will play.
Please let ma know before you go.
Where the trees are abundent, the air is ecool.
He took medicine, so that he might get wall.

b~
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(3.) Fill each blank with an appropriate word:
1. You are much stronger than—.
2. You should rather blame your self than—.
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3. I wrote that we-gladly accept his invitation.
4. He declared that you—go, even against your will.
5. T know—it was that broke the window.

6. Tell me—you think I resemble.

7. Would that I-—there.

(4) Tranlate the following paragraph:—

Child labor is one of the problems that most urgently
needs to be solved Little tots of seven oy eight are freque-
ntly found working night and day in mateh, silk, and cotton
factories. Through no fault of their own, they are denied
play, education, and all other apportunities which their more
favored brothers and sisters enjoy. They become old bafore
their time. It is unbelievable that the public can he 9 in-
different fo such an undesirable system which was only to
lerated more than one hundred years ago in the west.

(5} Translate the following Chinese into English:
v R Y 28 — B R A2, B R AR R R T Y, S — R R

MR S H S OER A “J o RS WL NG —F M LI G IE
A U8 35T — A, A A0 e, AR a0 2, R M, 8318

V'Jﬁ‘f. GE g H#‘J’A\’ AR TR A TEH Y 1 -
‘5%15" LY PRI P13l BT ‘é’%"i’)ﬂ@’fﬁ'i‘!ﬁ,"\%’i
SO TERRS T, S MR SR AS A A A DI
i-@] PSS AR PN O PPN I s F FI‘r) oA
126 I A Tl N
1. Correct the mistakes in the following sz2ntences:
(2) Dark clothes are warm in summer which absorb
the rays of the Sun.
(b) We do not afraid these difficult lessons.
{¢) By taking exercise every day he has become strongly.
(d) The boy is study his lesscn.

II. Translate the following into English:

B



% EH

36

(@) sk, 2Bk R,
(b)  FRPFAZEH G PE R, DILEY R, fosii,
(e) i”ﬁf&&iﬁ?ﬁ; X’f‘.nﬁﬁbl’ﬁhh FEI’IE }\‘H"J Mo
AR Wl N _
I. Translate the following quotation into Chinese:—
“Four score and seven years ago, our fathers brought
forth on this continent a new mnation, conceived in liberty
and dedicated to the proposition that all men are created
equal. Now we are engaged in a great civil war, testing
whether that nation, or any nation so conceived and so de-
dicated, can long endure. We are met on a great battle field
of that war. We have come to dedicate a portion of that
field as a final resting-place for those who here gave their
lives that nation might live.”
II. Translate the following article into English:
o8 F’E}
T NER N, IR B B ik A R, 1 30)9T4E f)’i%ﬁ‘lﬂiﬁ
Ak Jof)(’f“%&[‘ﬂ%/ﬁ(ﬂ‘%ﬂvlﬁo?kﬁ«’ﬁ/‘\.’m‘d" e s %
R, BE B R B AT, o T )\Fk@lﬂ]
SRR
I1I. Write an essay of 200 words on vour former school.
IV. Correct the following sentences:—
2T have not been in home yesterday when he called
at me.
b What do you like, a job or a university education?
¢ If T am you, I would study hard.
e Nobedy in the class when 1 come in.
f The man died two hours when the doctor came.
ME L 4% S B oA B
I. Correct the grammatical errvors and fill in all the
blanks in the following passage:—
Accordingly, plans was made...... Olivia and Sophia...... 20
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to town as companions to the high-born visitors. The plan
went wrong. Excuses came to...... effect that the fashionable
ladies has find something undesirable...... the two girls’ char-
acter. And then as if to crown the disaster, Burchell’s
pocket book has found, with a letter...... it to...... fashionable

ladies, seemingly implying ..... Misses Olivia and Sovhia

Prirarose were of imperfect virtues. At that discovery, the
wrath of the doctor and his wife flamed out. Burchell was
forbidden the house.

II. Translate either A or B into Chinese:

A. “Toward all other nations, large and small, our at-
titude must be one of cordial and sincere friendship. We
must show not only in our words but in our d:eds that we
are earnestly desirous of securing their good will by acting
toward them in a spirit of just and generous recognition
of all their rights. But justice and generosity in a nation, as
in an individual, count most when shown not by the weak
but by the strong. While ever careful to rvefrain from
wronging others, we must be no less insistent thut we are
not wronged ourselves. We wish peace; but we wish the
peace of justice. the peace of righteousness.”

B. “Dr. Sun Yat-sen replied to his Japanese friends,
“Being peoples of the same race, colour and civilization, the
Chinese and Japanese are like brothers. China being older
in civilization is similar to an elder Lrother. Becauss of this
racial and cultural rvelationship there should be a natural
tendency toward friendliness and cooperation on the part
of the two peoples. The position as regards the Chinese and
Europeans or Americans is like mere friends. If a friend
treats us with insolence we may bear it with tolerance, but
if a younger brother shows not only disrespect but oppres-
sion there cannot but be the strongest of reactions.”

III. Write a composition of approximately 250 words
on any one of the following title subjects:-

=
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a. How I Spent My Summer Holidays.
b. By School Life Up-to-date.
c. University Education and My Fulure.
d. A First Impression of Canton City.
ZABONRINE s S Sl
1. Corrvect the mistakes in the following sentences:
1 He is the passenger who T met yesterday.
2 Neither vou nor I are a good friend of his.
3 Any middle school graduate who desires to go to a

college.

4 You asked me where shall T go next Sunday.

5 1 saw the man come here in a suit of black clothes.

6 If I was you, I will never do this.

7 Wusih is a industrial ¢ity in which has many factories.

8 Since T recsived your letter I have no time to
ansiver you. :

II. Till the following blanks with proper words.

1 He can write much—than 1 —

2 No one—willing to associate with you if you are so
proul.

3 The quickest means of transporation is—.

4 The student meecting will be—next monday—
seven o’clock—the evening.

5 If he failed in thit examination he—forbidden to go
back.

11i. Punctuate tne following sentences, using correct
marks:

1 The lady suddenly exclaimed mwy purse is lost my
purse is lost.

2 His house and born his cows and chickens his cloth-
ing and hedding in fact all his property and belongings
were lost in the terrific flood.

3 The examiner ashed me why do I come .here for
further education
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4 1 learned that the roots absorb plant food by a pro-
cess of oswosis that air comes into the leaves through certain
pores that water ana corbon dioxide combine info sugar in
the leaves by means of photosynthesis and that this manu-
factured food iz then transported into all parts of the peant

5 Let me outlin2 the steps im the foliowing (1) make
the soil loose and fine (2) scatter the sced evenly over the
soil (3) compact the soil a liftle bit (4) spriukle water over
the seed bed () cover the bed with hay

IV. Treanslate the following passage into Chinese:

The life history of a human being may be thought of
as made up of successive periods witli somewhat different
characteristics. These mental characteristics are based on
physical differences and development during the respective
ages. For convenience the periods have often been organized
and classifed as follows: (1) Infancy, one to six years; (2)
Childhood, six to twelve ycars; (3) Adolescence, twelve to
eighteen years; (4) Post-adolescence, eightbzn to twenty-four
years; (5) Adulthood, twenty-four to the decline of the vital
power; (6) Senescence, the period of old age.

There are, as a rule, no abrupt changes, with the sudden
appearance or disappearance of some peculiarity or char-
actevistic, but there are some general outstanding feafires
usuzlly prominent during these perivds that are imporcant
educationally.

V. Write a2 short composition of about 250 words on
either of the following two topics:

1. What I know about mass education

2. My first im pression of Wusin.

/0B MINTD JE o D - 3 )
I. Translate the following into Chinese:—

A Part of a Speech on Mars
“Look at the Earthians who are killing one another.

P
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Can’t we stop them? How can we tell them it is a folly
to go to war? Yes, they have the ability to fight in the
air, under the sea, and with flying or other machines,
gases, mysterious rays, ets. just as we Maxvtians long,
long ago did. Finally our remote ancesters reached the
conclusion that war was not necessary in a much higher
civilisation. So they organised a universal court and educated
the people to do away with war. It was unsuccessful at
first. After centuries and centuries of repeated ana pains-
taking efforts, we have come to this civilisation of ours in
which we can live peacefully without any class, color racial,
regional or religious discrimination. It is yet to be seen
whether the intelligent animals on arth can develop a
civilization like curs or not. How can we reduce the
distance that separates us from them? How can we make
them receive and understand our wireless messages? How
carn we make them see us? We need some new scientifie
inventions in order to communicate with the leading living
beings on that slightly larger and warmer planet, our next-
door neighbor.”

II. Write eight sentences as examples of the four

kinds of sentences according to form and of the four kinds
of sentences according to use.

ITT. Write as essay of reasonable length on one of the
following subjects:—
(Marks will be given particularly for neatness, subiect-
matter, arangement and originality.)
1. The New Life Movement in China
2. Why I Wish to study at the Hopel Institute
of Technology
How to Serve China
My Ideal Friend
The Best Book I Have Ever Read
How to Be Successful in Life

oo
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I. Translate the following into Chinese:

China’s most important lines of communication are her
three great vrivers: the Hwang-Ho, or Yellow River in the
north; the Yang-tse in the centre; and the Si-kiang in the
south. The mouths of these rivers, commanding the main
routes inland, are accordingly first-rate strategic importance.

The southern entry is controlled by the British, at
Hong-Kong. Shanghai, at the mouth of the Yang-tse, is
held jointly by all the alien Powers, with Britain and
America predsminating. The sea-way in the north is con-
trolled by Japan.

TI. Correct the following sentences:

There will be much fighting than in your days.
He is quite please with the arrangement.

Go and get John to gave you some tea.

I knew he is lying to me.

IEveryone are so strong and confident.

How many money the millionaire has get.

Art has not nationality.

My cloth are not at all a success.

They are very anxious about their child health.
She was so looking forward on your visit.

o

o
b
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Fill blanks with one suitable word:
It show-—you have a nice nature.
I do not want—force yvou to—me presents.
—iyou tell me—it was done?
In a way your life has—a work of art.
She is—absclute despair.
I am going—say good-bye to her.
We must not give—the struggle.
He was notorious—his misdeeds.

P NS T N -

IV. Translate the following sentences into English:

s+



% E

42

LR BAT? 2. diemieilie 5. DIRKCE
FENEM. 4. AUAFIEFA. 5. JRGRI P .
6. ?Sif[“iZs"’ﬁifiﬁ"’;ﬂi'ﬂ,w%‘l‘fﬁm"“fﬁnﬂﬂﬂ‘l . KBRS

KW 20k, 9. FRPMBC TG DA i 4% 1 oh, Ay
HBAEE. 10, FRUEK S 7vAhnY, 39k 45 .

2N AR CE B ol S AR

(1) Fill each blank with a relative Pronoun:

1. Are you the man—helps my son to study?

2. Nothing—I see pleases m:e.

3. That is the Captain—Compuny was annibilated.

4. Tt is not the same fault-- I have.

5. This horse is not such a noble animal—the one T had.
6. You—are here are aill members of the club.

7. T am the man—is responsible for this.

8. We,—are rich, must think of the poor.

9. Those of you—are ready may go.
10. He—is fond of good books will never feel lonely.

(2) Write an essay on one of the following {opies:-

1. My family. 2.Is English useful to Chinese students?

(3) Translate the following Passages into Chinese.

“I have no right to give my opinion,” said wichham,”
as to his being agreeable or otherwise. I am not qualified
to form one. I have known him too long and too well to
be a fair judge. It is impossible for mo to bz impartial
But T believe your opinion of him would in general astonish
and Perhaps you would not express it quite so strongly
anywhere else. lIHere you are in your own family.”

2O T | R N
1. Write three sentences containing each a clause of
purpose; an adjective clause; a verbal noun in “ing” (par-
ticipial noun) as an object of a preposition.
2. Translate into Chinese:
The Universe, wrote the great Linous in the sonorous
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Latin of the “Systema Natures,” comprises everything which
can come to our knowledge through the senses. The Stars
are very distant luminous bodies which cirele in parpetual
motion, and are either Fixed Stars shining by their own
Jight like the Sun...or Planets deriving their light from the
Fixed Stars...The Earth is a Planetary globe, rotating in
twenly-four hours, moving in an orbit around the sun once
a year...and covered by an immense mantle of Natural
Objects the exterior of which we try to know..Natural
Objects...are divided into three Kingdoms of Nature, Min-
erals, Plants, and Animals...Plants are organized bodies
which live but do not feel {or as we say, are not conscious.)
Such is the place in naturs of plants, which the botanist is
irving to know. Of these plants there are many distinct
kinds or species, probably some three hundred thousand, as
noted already. Kach species, however, consists of thousands,
or millions, or perhaps billions, of individual planis.

3. Write a short composition on the subject “Diligence”.

C R R

I. KExplain the following in English or Chinese:

1. Democratic Government, 2. Internaticnal Control,
3. Tariff Autonomy, 4. Administrative Organ,

5. Diplomatic Relations.

II. Translate the fellowing into Chinese:

Books possess an essence of immortality. They are by
far the raost lasting products of human effort. Temples and
statues decay, but books survive.

1I1. Translate the following into English:

SR O SRR (T I TR J i A T SO

IV. Correct the following sentences:

1. Your sister’s watch is different wits Miss Wang’s.

2. Neither your work nor your attitude are satisfactory
to your teacher.

3 B F



=

44

V. Fill the following blanks:

1. We arrived—the station—ten O’clock.
2. They lifted the box—the fioor-—graat care.
ANCIE I A R R
I, & 3%

Most of the streets in Lodon are paved with wooed or stone.
There are, besides the road, two sidewalks next to the
houses. The “rule of the road” is for foot passengers to
keep to the right and, for wvehicles to keep to the left.
Street sweepers are busy from morning till night in keeping
the strect clean. In summer, water carts go round and
water the roads to lay the dust. Very few streets are
planted with trees, but all are lighted by gas or electricity.

IT 4% ¢ &
el 2 2, RGBSR 3, -t BN
RS 4, WERTEHRLSKR 5, ekl

IIT @R FRaEes

1, The students of this class go to the playground.
2, This boy studies English grammar

3, Walking is a good exercise.

W S FASRE PRSI T

1, The lesson is—difficult.

2, He has—book in his—hand

3, China fought—Japan in 1294.

EUNR Tl T R P S A N /4

1. Insest prepositions to the following sentences:
A, You must loock—this case carefully—.

B, He climbs—the roof.

C, I swam—this side of the rivers—the other side.

The snake was hiding—the grass.
Make two sentences in PASSIVE VOICE.
o » ,» ACTIVE

e O

”
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3. Translate the following into Chinese—the eyes are
among the most delicate organs of the human system, for
that reason they demand much more consideration than do
most other parts of head and body, It has been said that
there are three important conditions which aid in preserva-
tion of good Vision. These are good light, good print
and gocd hezlth. '

4. Translate the following into English:
MR B8 TR AT e 2 TR S FLARIE 2 48, i ik 36 2 1 ) »
e B 2 e R AL T,

R
(1) FILIRIEME e (2) S —Ei e  (3) AET
Emat e (4 WMZHF—MEETEHe  (5) JhApE
FERITRIESERD > (EE—8 e (6) 354N ML B
i, (7) R PRERRACHUNT  (8) FRAM S En gk |
VI R A D - N A 15

I. Translate the following into idiomatic Chinese.

The manufacturers of England are mostly Carried on
near the coal field in the northern and central countries,
where there is plenty of field at hand to supply the steam
engin. The cotton factories have been set up near the
Larcashire and other coal fields. Many million pounds weight
of cotton are breught every year from America and other
countries to Manchester and other larger towns. There it
is turned into calico, prints, muslin, and other materials for
¢lothing.

11 Translate the following into Englisi
REI S Aemn?  Ferhinldbalons, 1 FEEIR R BRI 0?2 i
FEZ TR LiE) o siny, )i;fi‘)@}.,‘i};j;;{z;&’;%g’q? A ik
PA—PBME AR, (RS AR INER Y R T R
ﬁ-}m L4

Il Name the eight parts of speech and give an
example of each. What do you wunderstand by simple,

B F
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compound and complex sentences.

IV fill the following blanks with proper words.

1. I—going away now. 2. He—seen my friend mr. Wang.
3. —ycu go home to morrow? 4. I—help him if I—you.
5. We would not go—you—with us. 6. The cloud floats—
our heads. 7. Can you jump-—the windew? 8. As one can
live—{food.
iU 4o T3 SR R

I Correct the errors in the following sentences:

1. He said that it is time go home. 2. He preferred
a novel than a play. 3. Since last month I did not see my
brother. 4. We arrived to Nanchang two weeks ago. 5. He
studies very hard in order that he can learn much more
quickly. 6. If I did not go out yesterday, I should see him.
7. 1f 1 am you, I shall not do it now. 8. China is very
dangerous st present. 9. The Storm broke just as we rea-
ched the Shore with great violence. 10. I walked out into
the night as the moon rose and wandered through the
grounds.

II Dirgram the following sentences:

1. It is not wise for a young man to expect only to be
vich, nor is it good for him to direct his attention soisly
to power and fame. 2. Steamships zare sometimes called
the “greyhounds of the ocean,” because they cross the ocean
at such a quick rate way remind one the fleet greyhound.

IIT Write a short composition on any one of the topics:-

1. My native Village 2. My School Life 3. To Study is

to Save the Country.
LU i S L B & - 13
I Write five scntences each containing one of the fol-
lowing. 1, however, 2, in order to. 3, to and fro, 4, as
soon as possible 5, to tell you the truth.
II. Copy the following sentences after corrected, giving
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the reason for your corrections in each one.

1, T have much friends in the school.

2, A week has passed since I am coming here.

3, The bird was catch by a cat this morning.

4, T am like to play the football,

5, We must make haste, we only have little time left.

117 Translatz the following passage into Chinese:
West Orange, August, 4.—Mr. Edison is now progressing
very satisfactorily following his recent illness. 1le was able
to go for a moter ride yesterday. The famous inventor was
smiiling like a boy let out to play as he walked unassisted
to tha car. '

IV Write a composition on the fellowing topic:

If I were a medical doctor.

= 1o O PR AR TV S S N S '3

I Translate into Chinese: the

Nanking, Aug. 5 -Feginning with the coming academic
year, no university or college may admit students transferred
from any unregistered private college or graduated from any
unregistered private middle school. A circular order to this
effect has bern issued by the rainistry of Education to all
universities and colleges throughout the country.

Intervicwed regarding the order, a spokesman of the
ministry said that the euistence of unvegistered private
schools is not legally recognized. The rights and privileges
to which students of registered schools ave entitled, will not
be enjoyed by students of unregistered private schools such
as, for instance, competing for government scholarships,
attending public examinations, and receipt of graduation
diplomas from the ministry.

These restrictions are designed to safeguard the interests
of students and must bhe enforced, he added.—Kuo Min.

II Write a short composition on one of the following
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topics:

a. How you spent your summer vocation.

b. Write a story that you have heard.

c. Write a letter to your friend, describing the good
scenery of your own village.

d. Benefits arising from gymnastics.

FLoSL & B A B

I Read he following passages carefully. Then vead the
statements and questions in A.1.C. In each exercise, one of
the numbered words or groups of words completes the state-
ment or answers the questions correctly. Write in the blank
after each exercise the number of the word or group of
words which, coryvectly completes that statement or answers
that question.

Men were once engaged in digging a tunnel under &
large river near New York City. While they were working,
an accident occurred. A great hole appeared in the side of
the tunnel, and the muddy water of the river started to
pour in rapidly. The workmen immediately dropped their
tools and started for the entrance. All escaped except one
man who stumbled and fell while running away from the
confusion. Before he could regain his feet, the water rushed
over him. The accidant was due to carelessness on the part
of one man who did not do his duty.

A. The tunnel was being built 1 in New York City
2 under a railway 3 beneath a viver 4 through the water

B. How many of the men escaped? 1 One of the men
2 All of the men 8 None of the men 4 All but one of the
men '

C. The cause of the accident was 1 The fact that one
man fell 2 carelessness S the muddy water of the river
4 the confusion

II After each word in the left-hand cclumn, there are
four words or phrases, one of which is a definition or
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svanonym of .that word. These are arranged in 4 column
(A,B,CD,). When you have deeided which word or phrase
i3 the best definition or synonym for the word which it
follows, place in the space at the end of the line the letter

o7 o column in which the word appears.
A B C D
i, ALCUD permitted with sound unpleasant kindof —1
, oird
2. ANCHOR guod time place for strong part of —2
dying feeling a ship
2. CARPENTEDR more on2 who wotrKer moie —3
easdy drinks with wood often
4. CASH monay heavy fall important unequal —4
& DESIGN broak plan want  buikiing—5

i A, Some of the sentences given below ar: good
santenves; othors contain mistekes in grammear or idiom.
Exzaming each sentence. If the sentence is a good one, place

au £ after it; if it is & bal one (has a mistake in it), place
a by aiter it, a 2

1. 1 knew right aws y that it was him. —1.
v, macn of the eriminals were toll of his fate. —2
3. Neither James nor John expecis to be elected. —3.
4. VWhy yeu want to go now? —4.
5. 1 do not know whether should I go or not. -—5.
6. He is a better student than T —6.
7. XNeither snow nor hail will injure this crop. —1.
. Both of the boys were afraid of him. —8.
9. Please tell me whether this scems cori ‘ectly or not. —9.
10. Tt is not polite te take the last piece. . —10.

2. Use the correct form of the verb in each of the
following sentences. Be sure to write the verb both in the
space within the sentence and in the spuzce following it.

EXAMPLE: a. (try) I ¢ricd to go there yesterday. tried—a

8 B F.
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1. DRIVE When the man came, he—the dog away. —1
2. DRINK How much wine have you—? —32

3. CHOOSE 1 told him that I—history as my major —3
three mohths before.

4. LIE After his dinner yesterday, he—down for —1
a while.
5. FREEZE When he got up, the water—. —d

C. a Change the following sentences from the affirmative
into the negative. EXNAMPLIC: “He is safe” hecomes *He
is not safe.”

1. Come here. 2. They are at the University.

3. When his friend arrived, he had gone to bed. 4. The
servant takes care of the furnace. 5. He will come fomoriow.

b. Turn the following sentences into a question. EX-
AMPLE: “I thought Mr. LI guse « good ielture” becomes
“Did Mr. Li give a good lecture?”

1. He said Z/s broiler was af home wiciwe oliad.

2. 1 do not know what he has done with the Dol
3. She asked if Zie worked fiurd all day long.

4. He told us whewe e tlonghit it was

5. He wanted to find out lioir everybody was.

c. Make one sentence from each pair of sentences give:n
below by using the word enclosed in psrentheses. Muke
any changes which seem necessary. ENAMPLIE:” (tut) I
waited until ten o’clock he did not come.” becomes I waited
until ten o’clock but he did not come.”

1. (WHICH) The horse died two days ago. It -was
very old.

2. (IF) I am very tired. I cannot play well.

3. (WHEN) 1t happened a long time ago. I was a
small child.

4. (WHERE) T lived in the North many years. The
wind is very cold in winter.

5. (ALTHOUGH) He is doing good work in school.
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He is not well.

d. Rewrite each of the following sentences, making
the change indicated in parentheses. Remember that it may
be necessary to change other parts of the sentence. EX-
AMPLE: (Change SHE to HE) “She is a gir!” becomes “He
is a boy.”

1. (Change HE to THEY) He has sold his furniture
to pay his rent.

2. (Change I to YOU) 1 often carry my books home
after school.

3. (Change STAYS to future tense) He stays away
from school whenever he wants to.

4. (Change LIFTED to future tense) They lifted up
the stone and threw it down the hill.

5. (Make IT the subject of the sentence) To study in
hot weather is very difiicult.

AL NC 6 e KSR
1. Write a composition of about 500 words on:
One Summer Night

2. Translate the following into Chinese:

“Studies serve for delight, for ornament, and for ability,
Their chief use for delight is in privateness and retiring;
for ornament, is in disccurse fand for ability, is in the
judgment and disposition of business.............

“Yo spend to much time in studies, is sloth; to use them
too much ornament, is affectation; to make judgment wholly
by their rules, is the humour of a schopar.............

“Some books are to be tasted, others to be swallowed.
and some few to be chowed and digested....... .....

“Reading maketh a full man, conference a ready men,
and writing an examct man......... ”

A% R L kG
I. Auditory Comprehension: (A)—Questions and An-
swers Listen carefully to each question or statement.

=
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Then undcrline the word in cne of the four columns that
gives the best answer. Haoample: What do you write with?
Ansiwrr: paper knife p/f’-af slate. Each question will be read
only vree, and five seconds will be allowed for the answer.

1. Thursday Sunday Wednesday Monday 2. seventeen
nineteen eighteen twenty 2. Wheat flour bakery sugar 4.
woo! hot cold cotton.

B. True and Falsz Statements. The Examiner will
give the number of each statement, then gi '
once, and the student wiil write afier each number of his
paper the word e ov the word julva. The examiner will
wait five seconds only between questions.

1. 2. 3. 4.

I1I. SYNONYMS OR DEFINITION

In the first column is a list of wovds, and after each
word are four words or vhrases. , Underscore the word or
phras2 that expresses th,, meaning of the fivst
tha“ t’r»e others.

wample: CONSIGER 1 nk, write, speak, study. Taink
is thb nearest synonym.

1. ASPECT appearance, looking at, caveful, superior

2. DISTINGUISHED exeeliens, different, far away,
studious _

3. TIMOROUS heloful, in a subdued manney, crazy,
fearful

4. PRECISELY accuracs, exactly, a steep place, worth
much

5. COMMNON bvroadminded, very good, found every-
where. punctuaticn mark

6. ROBIN bird, fruit, vegetable, animal

7. CULPABLE having good ability, of high power,
faulty, crime :

8. INTELLIGENCE education, wisdom, reading books,
student

9. REMARKABLE of a high degree, pertaining to

word better
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grades, high, doing over again
10, SUSTAIN hang, work hard, have success, support
III. GRADIMAR
A, Change the fellowing sentences by using the passive
voice instead of the active, or the active instead of the pas-
sive. Keep the same meaning. Write Letween the lines.
1. The students have read all the books in the library.
2. Children are loved by their parents more than par-
ents are ioved by their children.
B. Change the following statements into questions, and
questions into statements.
1. Birds migrate to the South in winter and to the
Noyth in summer.
2. Does he not want to obey lis teacher?
C. Change the following sentences from direct dfscourse
to indirzct, or from indirect to direct.
1. The comluctor warned the passengers not to gst off
the car while it was moving.
2. Mr. Weng sald to Mr. Chen: “Your sheep are in my
pastuve.”
absent for two weeks. Where have you been?
D. 1In the margin mark the following groups of words
as (1) phrase, (2) dependent clause, (3) simple sentence, (4)
compound gentence, (8) comulexw sentence, (6) compound-
coraplex sentence. Writa the fgures, nor the words, in the
left hand margin.
1. Hearing some one approach.
2. The hunter tried to miova the stone, which he found
very heavy.

3. Where I workad for two summors.

4. T went to town to see wy friend.

5. That he wes a good man.

6. Having paid for three hats, T felt I must wear them all.
7. The one who was injured was my brother; the one

who escaped was my friend.

B



8. The truth having been learned, the prisoner was freed.
9. While working at his 1e»;s‘on to get a good mark.
16, Not only did he do good work in classes, but ho also
e
I0

took part in schocol activities.

Improve the following sentences Ly sl nem
more clear, or complutmw them.

iary’s cousin was smiling vwhen sko entersd tho voom,

Having Leen ozzis:ed for two hours in 2 hot oven, we
uaranceed that the potatees were thoroughly dons
. Fill the blanks with the correet form of the verbs

in the margin.

1. (indy He is ravely at home but T tuckily......him in.
Yo (arrive) When 1., at the station myv t e

before me.

IV SILEET READING. Read the following selectiona
carefully, and then consider the statements which follow eac
selection. Write a plus sign before each staterent that
true aceerding to the selection preceding. You muy read the
selection as often as you wish, but you must vemenber that
vour time is limited.

%

Fourteen men and women have been arresied on a charge
of engaging in the secret manufacture of “red pills,” and
face & possible sentence of death. Thev wera capturad fol-
lowing a raid on their headouarters at 'Toishan. The parvty
resisteq arvrest, and a pistol battle lastinge a half~hour took
‘place before they were overvowered by the police. Several
of the prisoners were seriously injuved during the encounter.

1. Fourteen men and women were found guilty of
manufacturing red pills.

. They were suspected of being communists.

[av]

3. They were charged with secretly making red pills.
4. Tnese men and women were armed with pistols.

5. They killed several of the policemen.

6. They were sentenced to death.

7. The police had an easy time arresting these men and



Woret:.
&. 'The police suffered many injurvies in trying to arrest
them
¢ The pelice arvested the prisoners after a determined
efiurt.
. The policemen wounded soveral of these men and
Woeli.
Vo COMPOUSTTION-——Write an formal letter, addressed
to vous examiner, telling him of vour teachers in Tuglish

and of vouv

“ngiish 1e\bfmw in vour Middle School. Cive an
Caverits work in English.

o

Idea oF Vouy

)

. A. Cross.

Part 2. Silent Reading by 8. G. Brinkley.
Part S0 Grammar-Tdiom by Noei Kewa,
]

GSCE R A

I Aauditory Comprehension Test

Thiz frst part of the examination is a test of your
ability 1o understand spoken Enelish.  You will be asked
thivt> cuestions in mnglish.  You will find five possible ans-
wers 1o szch guestion on vour paper.  You must draw a line
i the answer which you think is right. Look at
Question below. Waust are yso sitEug ow?  There are
five words under Answer One of these, scof, is the correct
nswer. There is a line already drawn under it.

Guestion: What are you sitting on? Answer: dirt, seat,
window, paner, here.
1. Voeabulary

liweael line sclect the numbercd word which has most
ncerly fie same meaniing as the first word in the line.
Wit s number in ‘éi’:g parentiicsis at the right.

Erample.

2



b2

56

almost 1 leng, 2 high, 3 nearly, 4 pretty, ... ... ... ... {3)
1. market 1 trading place 2 basket 3 mark 4 temple ...(
2. help 1 assist 2 hope 3 prevent 4 give ... ... ... ...
3. honor 1 shame 2 money 3 glory 4 vespectable ... ...(
4. best 1 worst 2 most good 3 beaten 4 nice... ... ...(
III. Reading Comprehension Testh.

Read tie following sciection carefully., Ua
you will find scveral questions and four possible cnsiris
for cach auestien. Choose the number of the cory
wer and put if tn the parenthesis

Farumple What sort of test is this?

(1) writing; (2) reading; (3) speaking; (4) grammar...t2)

The first thing to note in studying the daily life at
Rome, is that the Romans, like the Greeks, were Lusy much
earlier in the morning than we are. In part this was the
result of their comnfortable scuthern climate, Whﬂ‘e the nights
arc never so long as with us, and where the carly movrnings
are not so chilly and damp in swmmer or so cold in winter.

1. When did the Romans use to get up?
(1) earlier than the Greeks; (2) later than the Gre-
eks; (3) earlier than we do; (4) later than we do...... ()
2. Why is the Roman climate comfortable?
Because the nights ave (1) cold; (2) hot; (3) short;

[ AN

(4) long... ... ... .

3. What are the early mornings in Rome like?
(1) damp in winter; (2) damp in summer; (3) cold
in winter; (4) not cold in winter... ... ... ... ... ...
IV. Grammar

The jollowing sentences are correct and natu;eol.
Write the numbers of these sentences i the ten souav
at the bottom of this page, beginning on the lofi,
one numoer from each yroup of firce.

Example.
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i. She eat her dinner. 2. She eated her dinner. 3. She ate
her dinner. 4. He is good student. 5. He is a good student.
8. He is a good. (3) (3)

This story is too much shervt. 2. This story is much too
short., 2. This story is shot too much. 4. Please borrow me
vour pencil. 5. Please lend me your pencil. 6. Please bor-
oW vour pencil to me. Begin here
eoeneli of The following i senteness, and waderliine

the vopression usod. Welte on this shioct,

1. o (as the first word)..

2 hﬂ nast participle of Lreak...

Complete the foliowing sentonces:

1. 1f you have studied Fnglish six vears,

2. The woman made her son... ... . ... ... ... ..
V. Composition.

Shwd g earefully o wicture given th

bodf wn liour writing o story abont ’:’7
Lo sou,

AR B G N
1 Translate into Chinese:

The distinction between certain old forms and certain
relatively vecent forias of literature is that the old were
timited by a logical purpose. The Drama and the Sonnet
were of the old kind; the Essay and Novel ave of the new.
If & scinet breaks cut of the sonnet form, it ceases to be
&« sennet. It may become a wild specimen of free verse;
tut vou do not have to czll it a sonnet because yvou have
netiing else to call it. But in the case of the new sort of
novel, vou do verv often have to call it a novel because you
rave nothing else to call it.  The same may be s2id about
the essay. By its very nature it does not exactly explain
what it is trying to do, and thus escapes a decisive judg-
ment about whether it has really done it.

=



II Transiate into English:

e BHR AL A A S
R 3l fﬁif"m.n/\ g
3. e KBE A4

fMHH&ﬁdaM

4, —ln)'—' ”!3'%,,;‘.:;,
Basf LT

IIT Write a short Cemposition (about 200 words) on any
oxe of the following subjects:

1. The Advantages and Disadvantages of Co-id y

2. Can one be Patriotic without being Anti-Foveign?

3. Should the modern Chinese students stuay the
Ancient Ciassics 7

AT P

I 'I‘rz':’ls‘form' 1 the verbs in section A from Active to
Passive: 2 the verus in section B from Passive to Active.

Section A, 1 That man has inkerested me groatly. 21
find the boyvs looking at me. 3 The cries of distress alarmed
them. 4 The house is rapidly building.

g
"e3

Section B. 1 I have been much distressed at your bad
luck. 21 am pleus“d that you are promoted. 3 He bagged
the parents to forgive him. 4 Every one was charmad with
his songs.

II Correct the following sentences: 1 1 do not know
who is he. 2 Do not prevent me to study. 3 Please repeat
again this phrase. 4 He will not listen what I sax. 5 My
idea differs to yours. 6 He is look like his brother. 7 1
can not part you. 8 T wish to return back to my home.

111 Translate the following into Chinese:

Books are to mankind what memory is to the individual
They contain the history of our race, the discoveries we
have made, the accumulated knowledge and experience of
ages; they picture for us the marvels and beauties of nature;
help us in our difficulties, comfort us in sorrow.
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1 Woite one full page of foolsecap, inaecurate. “diomatic
olish, on vue of the following topies: 1. “A great man of
"o, “A great man of the present.”
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I What do you mean by simple, complex, compound,

periodic, luose and balenced senfences? Give an example

Ii. (&) Construct three sentences to illustrate the use of
Youn, ad,}e“* ve and adverbial clauses.

() Point cut all the prepositional, participal, infini-
tive, noun, adjective. audverbial and independent phrases in
the following sentences:

1. Ike suve to catch the ten-forty train; otherwise you
‘11 hove to wailt until three o’clock.

2. In this way she traveled all over the country, work-
ing as a waitress whenever she needed money.

& That woman, by the way, s making a name for
herself as a scientist.

4. 1 vegret being unable to accompany you on your trip.

111. (a) Correct the following sentences:

1. A heavy rain fell during the night, and thus delay-
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ing our departure for several hours.

2. 1 will be eighteen years old tomorrow.

4. Esach of us have had our pictures made.

4. While we hope that the students exchange knowledge
each other.

5. Luckly, I have enter the famous college— Nankal
University. ‘

(b)) Indicate the accents of the following words by
undeorslining the syllables accented:

1. exceilent 2. character 3. probably 4. register 5.
influence 6. admirable 7. exquisite 8. hypocvisy 9. mis-
chievous 10, superflucus

IV. Translate the following passage into Chinese:

As long as man lived by hunting, he could not progress
very far above savagery. Buf in course of time it was is-
covered thal animals could be tamed or domssticated. The
dog, the cow, and the horse are somz2 of the oldest as well
as the most faithful friends of mankind. People living
along rivers or by the shores of lakes and seas leavrned how
to fish, using hooks and spears and nets with great sikill.
It was also found that plants useful for food could be
cultivated, and a crade kind of agriculture was begun by
people who iived in fertile regions. When men could till the
soil and fish and raiss domestic animals they could bagin to
live in settled communities, and civilized life could devalop.

V. Write a composition of not i35 £iin 250 wuds on
the following subicet: My Home

Ao 1 g
I Write sentences using the past tense and the past per
fect tense of the following words:

1. break 2. come 3. fall 4. freeze 5. ride 6. run

7. swim 8. tear 9. ring 10. sink
I Correct the errors in the following sentences:

1. Each of the boys have been absent twice.
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2. Alathematics are difficult for me.

3. The house, togaether with the furnishings, were sold.
4. BEverybody in the audience were bscoming impatient.
5. MMy sister likes Mother; 1 love strawherries.

6. Ten Minutes are enough to soive this problem.

T. It is no use; nothing ean prevent him going.

&  That house builded 1a>t year was cost money.

¢ N g

G, Neithor his racther nor son know when he return.

16 He ammt help but pity him.

11. He iooks like he had seen a ahost.

12, Pienss borrow me one hundred dollavs; I will return
you as soon as I sale my house.

i3 Li is a spectzeular plaver, but who is sometimes not
very (1cbﬂnf1 cle

i4. " After two months of courtship he married the girl.

15, Be%:veen the five of them they decided upon a plan.

18, 1 never walk in the park without I stop for a little
while to fead the pigeons.

17. He said it shouid be divided between you and I and
that we will enjoy it very much, he hopos.

18. Aly home is in o different direction than yours.

19. The tsacher gave good marks to these whom he
thousht deserved them.

20, Fe was told 1o imnediatzly leave the room.
11T Vvite a letter te a iriend, congratulating him on his
graqu;tion from the senior middle school.
IV a) Discuss the topic sentence in the parasraph.

b) Define the loose sentence, the periodic sentence and
the balanced sentence. Give two examples for each of these
tvpes of sentences.

V Write a composition on cne of the fo]lowmg subjects:
1. The Qualities that I most Admire in a Student.
2. The New Life Movement. 3. My Favorite Exercise.

i A I UE P

i1 Translate the I’ollowihg. into Chinese:
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Early Introduction of Opium.—Opium is mentioned in
Chinese annals as early as the eighth century, and was presu-
mably brought into China for medicinal purposes by the
Arabs. Its Chinese name, O Fu Yung (fif3£4), is thought
to be the corruption of the Arabian name, Afion. The next
mention of opium is found towards the close of the Ming
Dynasty. The customs statistics, compiled for the year 1859,
show that ten catties of opium were, in those days, worth
two “ silver bars”.

As early as 1729, or the 7th year of ‘the reign of
Yung Cheng (F£ i), laws, were made interdicting the use of
opium. It is safe to conclude that the habit of smoking opium
had, by this time, begun to work great havoc among the
Chinese, or it would not have aroused the attention of the
(Chinese) Imperial Government. These laws, however, failed
to stop the evil at which they were aimed, and increasing
quantities of opium continued to pour in from India under
the fostering influences of the East India Company, an
English company which had the monopoly of the China trade,
Canton, then the centre of this trade, was the doorway
through which opium found an entrance.

II Correct any mistakes that you may find in the
following:

1. China is more populour than any worldcountry.

2. T and you do not agree that proposition.
3. He write excellent: no one in the class can write as

- neat and clear as him.

4. You write more well than me, but I write mcre well
than him.
He is laughed by who and why?
Aren’t you satisfied? yes, I am not satisfied.
When he having do his work, he sat down rest.
Whom do you think can be trusted?
It is three weeks since I have wrote to him last.
10. I have seen him once last month.

© XN @
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11. This table’s leys are too leng cut them short.
12. The men have a higher degree of reason than the
brutes.
III \Translate the following into English:—
VLB R D ARG o 5 RERL R 52 0 LI R T PR
SH R B ML KRR O B PR - R Y o o5 B AR IR i T T P
ST > APRAT R ANE o ATRF A ISR o Gh AR
s RG0SV — AL
W AP AR AR o B B4 A ST B B
AEATD PR o BTN o SR B TATI R w o BRIS BEEAT
—JF AR > (TR G A 2 DIBUSLAE LT SO s 1 - (LR
253 A B TSRO © TRAM SO SR B AE S TP IR R T T
FEA R AR AR 2R > B R A0 A R DI AT 0k i
Moo B Mok R
I Insert appropriate words in the spaces left blank in
the following passage:—

There once—in Greece a brother and sister who—Sebas-
tian and Viola. These two were—,both born in the same
hour. ¥rom their birth they so much—each other that, but

for the difference in their dress, it was very difficult to know .

one—the other. Their father—died when they were very
yvoung, and now, left alone in the world, the brother and
sister were so devoted to—that each felt miserable in the—
of the other.

At the time when this story begins, they were —a voyage
together to the country of Illyria. Suddenly, towards the
end of their voyage, a violent—arose, and their ship was—
and sunk beneath the—. Only a very small number of the
pecple—the ship escaped—their lives. The captain of the
ship, with a few of the sailors, got to land in a small—,
and with them they brought Viola—on shore

When she—Jand, Viola at once began to mourn her
brother’s loss. She felt sure that Sebastion was—. But the

4
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captain-—her with the assurance that he—seen her hrother,
when the ship was—down, fasten—to a strong mast.
11 Translate the followizxg into English:

GHCNOER

z&/{h_::ﬁ"i—i’l ~EHE i
RS R EIHUY e
?kﬂ]'iigii; -t

e G AL R 2
5 BT
I \Vr%e a ‘:, -anosioien of less than 300 wwords on
Who is tr.‘ stvongest man in prosent-da;

. N o
‘\[. Ry /‘{ ’u; K yt

I Writz a composition on any

1. My Lleal Teacher (or my .
2. The Diirevence between Home Lile and Culloge
5. The Benaflits to be gained from Leading a Clean

4, The nocessavy Pxepa,lamous for a Good Cliizon

11 Grammar. a. Correct the errers 1 1 went there at
about Noon. 2 ifgypt is the west side of the Red Sea. 3
*Away the men went to the field and working with a will
B. In each of the following examples supply the proaper
tense of the verbs enclosed in brackets. 1 Ho ¢vied how
many miles he (can) walk in an hour. 2 Hz (go) away
for a change, 2s 3001 as the holidays begin. 3. Your sex
has turned out more diligent than I {expect) he (willy e
Revrite each of the following sentences without a nagative:
1 You are not taller than he is. 2 A tent does nob take
long to be moved to another placa. 3. He left no plan
untried.
III Translate the Chinese passage into good English.
BB Tl (B, TR S S B AL AR o il
» B0 TG A7 R R 8, A — I BT, R R R N s
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LT AR BT, SRR RS Y‘"’IJ ’ {U ?iéf"‘ifrcii’fi‘"‘ﬁiﬂ
R BB R 5 M E R e B R 0 R
SBIEAT AGET, IR b, :nB“H BICL TAR, Jﬂi
I A VL B0, M MR, A TR R B AT e ag.

1V Literary Knowledge. a. Name the authore of the
following works: 1 Robinson Crusol.. 2. Tales from Shakes-
peare. 3. Treasure Island. b. Regarding the following
authors, point out which are Englishmen and which are
Americans: 1 Henry W. Longfellow. 2. Charles Dickens

3. R. 1. Stevenson, 4. Na*hamel Hawthorne 5. William
Shakespeare.

BN M A Kk B

Lo W% EHBO RSN, s bk )
i: That month is it now? June )

IT. WHRM 225, Y pkES, P absent p, active p, [F]
i pra A “”"—; R 6% M, barely m, centre m.

TIT.  SEREPEZE, g Y B .

1. what happens if......... 2. when were these... .. ..

IV W o BEEA M Iﬁ"ﬁ]ﬁ@l"ﬂlg J’U‘—-Jﬁnln_:? 25

ReAE R AR B )

Mary had a dog and a cat, but they did not like each
other very well. When the dog came near, the......... always
ran away as fast as it could.

Voo B Faasd, JE 0SS —5 0 AL A4

IR » UMW 0

He is fond of sweets, so he eats a great deal of sugar,
salt, and honey. I don’t mind the cold weather, for I have
on my thinnest clothes.

VI, BETEFARGE » BR—0) 0 MR ER, WA K

FRZ PR .
all the time in spite of no longer
VII AL 2 JEFBE P S SRR IS AT o TS AR AT > LIS
S8 N A TN e
BENJAMIN FRANKLIN

E
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Benjamin Franklin was born in Boston, in North
America, in 1706. His father, who made .candles, was a
poor man. When eight years old, Benjamin was sent to
school, where he soon reached th= head of his class: but
after two years he was taken home to assist his father.

“Benjamin disliked candle making, and was very fond of

reading; so, after a year or two, he went to help an older
brotker who had a printing office.

1. It is in North America. 2. He was a candle-maker.
3. No. he was poor. 4. Yes, he was a very good student.
5. When he was eight years old. 6. He was taken out of
school - to help his father. 7. Because he disliked candle
making. 8. Yes, he was fond of it. 9. After a year or two.
10. Benjamin himself-did.

AT ki A B

I % =%

1. Tlood Relief-An urgent call now in China (-

2. Still more free Education is necessary in China. (.

5]

3. An Account of what I have dons in the Summer

~ 7
r;r#é

‘days. (A—)

4. Write a letter to a friend of yours telling him
something, about the Entrance Examination of the Shang-
hai Law College (75—

5. Use “who” “which” “that” and “what” to write
four sentences each.

FL oL BB AR kR
ERE S e S g |
I. Fill the blauks:

.1. There are some men—never drink wine. 2. I hope
you will succeed—future. 3. He works hard—present.
4. This is my note-book —English. 5. Either he or I-—the
mistake. -

- II. Diagram these sentences:

1. Fourscore and seven yearsago, our fathers brought
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forth on this contiuent a new nation, conceived in liberty,
and dedicated to the proposition that all men are created
equl. 2. From this account of what you should not do, you
should do. 3. A man without attention is not fit to live in
the world.
III. Write a short composition on one of these two subjects:
1. The Causes of Our Nationzl Crisis.
2. How 1 spent last week.
IV. 'Translate into English:
FOEGE 2 U EEHEE TR RS ¢ (AL
VAN I‘?. 'U 14 NS TR BBk > el * 5 Mok » “}J‘gbw 0% 3
D SNE TR :%f?iitﬁ'éﬁzﬁ%» 5700 B ARl UL

AR L 5 0 0 b+ JE e e Bk - a5 BT 1T o 3
Kh%ﬁyﬂﬁ%“ﬂﬁ%&mm@&ﬂ : LR ]

SEEON Gy A2 RPN A 0 PLISHE Wﬁéﬁ? ﬁﬁﬁﬂbﬁﬁf-ﬂfi?ﬁ%lﬁb
% ’ '
B AR AR
I. Correct the mistakes in these sentences:

1. He told me that he has worked hard. 2. If I am a
bird, I will fiy. 3. English is difficuter to me than Chinese.
4. He came here on water but T came by foot. 5. Long lives
the king.

II. Diagram this sentence:

The House of Representatives is by intention the popular
chamber, meant to represent the people by direct election
through an extensive suffrage, while the Senate was designed
to represent the states as political units, as the constitude
members of the Union.

III. Write a short composition on the subject:

How to Remove our National Crisis.
1V. Translate into English:

Bt o PEIT 2 AT o ST, ﬂﬁ?:’:ﬁ% o ZATEH ik,
SEEDP o FRF R TR o 3L fDirE BB IR=F >
LT o SRR 2 [HRA R | WA RAE » "‘EZE*H >y o

HMMES ¢ ORI T > BRI/ 7 JLHEEIE ko JR0EE

H
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AHEN > MR !
BARES JEACR

1. Write a composition on one of the subjects:

1. My Past Two years. 2. How to Remove Our Na-
tional Crisis.
II. Translate into English:
JREh B NH S BIGCAE > A ILRIE AT BTSSRk
WO TR ) BEMEMRDIGES 9 R NE 18y
SR > DRIEDERRIG S » —FF LD T R B & LI BO =R
JREBE > BBEERER > REAUE o HHH Wb RO AT S B @ 55— A
FRE R FAIR R o A U BT IREISE s » Rl A8 o Frakl
B ieiEIRER R A= H)E »

BAE M REURR AR AR

L SRRECEM F s

1. Sind Sie ein Schuler? 2. Haben Sie Deutsch gelernt?
3. Was haben Sie in der Schule gelernt? 4. Gehen Sie fleis-
sig in der Schule? 5. Waren Sie fieissig in der Schule?
1I.  Kunjugieren Sie folgende Worter im Prasens Indikativ!

1. haben 2. sein 3. werden
L. A F R yer a3t e —i)

der Schuler des Schulers dem Schuler den Schulor
IV, 38500 A 28 (o s ik dieser —p3 93 4 sp = 58
X TR ER L

FHE Mok KR RS Hiciu

1. Un livre, un erayon, un Canif, une plume. 2. Avez

—vous mon cahier? 3. Non, J’ai ma grammaire. 4. Le

Jardin est grand la capitale est grande! 5. J’ai tu as il a,
nousavons, vous avez, ils ont. 6. Suis—je, es—tu, est—elle,
sommes—nous, etes—vous, sont—-elles? 7. Eu es aimable
vous etes tres aimables.

Wi S RSAER MiiE
I BREEs Fa%mmE
1. Wer geht gern zur Schule? 2. Sind Sie in der Mit-
telschule gewesen? 3. Sprechen Sie deutsch? 4. Haben Sie
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deutsch zu lernen? 5. Wie s0ll ein Schuler in der Schule
sein? 6. Welche Schule wollen Sie  besuchen?

11. Konjugieren Sie folgande Worter in alle sechs zeitfor-
men des Jndikativs! 1. kammen 2. gehan

IIT. 4 P s s (Relativoronomen) £ 5% 41 —4]

1. der 2. pessen 3. dom 4. dem
IV. Deklinieren Sie folgende Worter in der Eiuzahl und
Mehrzahl !

1. fieissiger Schuler 2. neues Buch 3. schone iume

eI I

1. Henri. Louis, Napoleon, Ciel, terre, livre. i¥¢ 73
%;EW]?E{JM( A I ER R (L‘\‘«mn] RN 2, JLiEIR
3 {JBF’]‘J“ mekfﬁ ” RS (article) {EHLIEG] 3. Ad, eCtlf
#hpk feminin GGG AN G0y 4. KT E] almer 7%
TRZ BTN AT R AR o Al a2 On] B i s e
¥ mode indicatif present)

I

A FAACER 1 CCE OB

Tl 5 2 RV S IOE i kR > Aj— z?‘ﬁ LA 3 T
AR o L— Ui s n TA{E B IRy SLSk A AL — T 6% - 2Riig
My Es ke — 11— n.]ﬁs;x;“‘ﬁﬂ/ﬁ‘cfl\ s ANMUEELE > ﬁﬂﬁﬁfﬂ.&%
» WAR R —IB-— M 0k o
AL b B BC

1 Fill up the blanks with a preposition:—

1. 1 called—him to come. We must call—our new neigh-
bour. This matter calls—prompt action.

2. I will communicate—him—the subject. 1 will com-
municate my views-—him.

3. He ended his spesch—a fine summing up. The project
ended —failure. He endad the discussion—declaring that the
meeting was dissolved.

4. He failed—that attempt. He is familiar—the subject.
The subject is familiar—him.

5. The cow feeds —grass. He feeds the cow—turnips.

=

&
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6. There was a long fight—the river—the eunemy.
II Translate into Chinese:—

Three bulls were accustomed *o graze together in the
same feld. They were so friendly to ons another, thal they
were nevar seen apart at any hour of the night or day. Alion
watchad them, hoping to maks a prize of onz of them; bub
so long as they remained together, he saw had no chance.
They were indeed quite safe, so long as their {riendship
lasted. But a quarrel at last arose through the cunning of
the lion, who set one against the othsr by spreading evil
reports and sowing distrust amongst them. Then they parted
company, and each grazed in solitude in a diffzrent part of

.the fizld. The lion, seeing that they no longer fed together,

fell upon each of them singly. until they were all devoured.

III Write a composition on one of the subjects:

{(a) The Camel. (c) Tea and Rice.

(b) Steam. (d) Singing apd Dancing.
A A < A W -
I Paraphrase. The examiner will read to you a short

story. Listen to it carefully and then write a summary of
it in your own words.

II Rewrite the following paragraph, covrecting the
mistakes, and improving it in any possible way:

In the morning of August 23th, T arrived to Peking. I
am never in Peking before so this is the most interesting
times to me. I am hope to study Medicine in the Peking
Union Medical College. The work will be very interested
I am sure, and I know that if I am working hard, T will
be succeeded. I like to study this madicine becauss of these
poor, sick people in my village who do not know the public
health. They do not care the sanitation, and they do not
understand to take care their children in a good manner.
Concerning with hygiene there will be a great many works
for ma to accomplish. I can give thosz Chinese sick people
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some advices and informations which can help them to a
better life. I like to teach them to take more exercise, and
to play balls and such things. I can teach them to enjoy
by showing those persons how to live. TFor all those reasons
I meution I think medicine is the valuable profession in
the world.

IIT Writ a composition on one of the following topics:

a. The need for rural reconstruction in China.
My native town.
What can modern medicine do for China?
d. The choice of a career.
One way in which students spend money foolishly.
. The need for good roads in China.
TR A NI L D R
TOAE W
1. Fill blanks with correct words:
(a) I have not seen Mary—Kate. {or, nor)
(by Charles——come to school. (was, has)
(¢} Tom is—(tall, taller, tallest) than—. (I, me)
(d) Helen’s father as well as her brothers—gone away.
(were, was, have, has)
() A thousand of the enemy—Kkilled. (were, was)
II. Fill blanks with suitable words:-
(a) The boy ran—the bill—a room—his house.
(b} A hut was built—wood-—a carpenter.
(¢) The boat was fastened—a tree—a rope—a sailor.
(d) I rowed—a boat—a river—the other side.
(e) Your brother stays—home—morning—night.
HI  Analyse (do not diagram) the following sentences:-
(a) Outside the back door a knife was bzing sharpened
by a boy.
(b) You must punish the girl that broke your spectacles.
IV. Correct mistakes in the following sentences:
(2) There have many policeman at a streets.

IcR e
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(b) Three of friend was arrived my house in six o’clock.

(¢) A boy was fallen from house and was broken his leg.

(d) These knifes was using to cutted braad.

{e) Whom is the man what 1 seen last morning?

V. Give one synonym for ecch of the following:-
near, quickly, sorry, rise, bigger; fnished.

VI. Give the exact opposite of each of the following:
autumn, well, weskness, safe, ascend.

VII. In each of five sentences, use one of the following:
for ever, underneath, some times, but also. else.

V1il. Write a composition of at least ten lines on:
‘Good Communications are necessary to a Country.’

oAy &t

1. (a) Give the exact opposites of: raise, eligible,
high, attract, light.

(b) Give two synonyms for each of: power, big, idle,
new, wisdom.

(¢) Give ths past tense, past participle, and present
participleof: lay, play, dye, die, fall, fail, fezl, iy, fl=e, fiow.

I1. Who, that, whose, what, such, the sams, other, every,
much, as well as, a few, not only, a littie, which, many a, lest,
so far as, from under, more than, neither.

Write twenty sentences of «f least ten words each, con-
taining one each of the expressions above.

IIT. Analyse (not diagram) the following sentences:-

(a) My father named his eldest son Wiiiiam.

(b) Have you s2en the book w’ich I bought yesierd 1y?

1V. Parse the words underlined in IIL

V. Write a composition of about twenty lines on:-

“Travel is a help to Education’.

ST W R BE B R

I Correct any mistakes in the following sentences:

1. The Three Principles are the principles that we can
save China with.
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2. The climate of China is much milder than the climate
of Siberia. '

3. 1 like such 2 kind of works which can make a man
both strong and wise.
The Chiness are really awakening.

Il

A
5. o know how to save China we must.

il Transiate the following Fnglish into Chinese:—

The most jraportant precaution against disease is clean-
liness. This is a matter that must be looked after principally
in the home. if each family would take proper precautions
o secure cleanliness aud plenty of fresh air, not only would
the problemof disease in the community be largely, solved,
ot the expense of goverament would be greatly decreased.
Because of the failure of the family and of the individual
citizen to do their part, the community, through its govern-
ment, enccls ordinances to compel people to keep their pre-
mises clean and their drains in proper condition.

FLowr @ A oph oan 8

L. This i3 a reading test. You are to read a number
of paragrephs. Below each paragraph are three ques-
dons which you must answer by drawing a line under
the onz word or phrase which gives th: bast answer. Let
us try a sample before wa begin the veal test. First read
the paragaph. Then underline one—and only one—of the four
answers to each of the questions to show that you unders-
fand what the paragraph said.

Next morning she awoke and found herself in a beau-
tiful room. The walls covered with silken curtains. There
were two mirrors made of pure silver. The bed was made
of ivory. The coverings were made of silk and velvet. By
her bed lay a dress and a pair of slippers. The dress was
made of silk. The slippers were covered with diamonds.

Where did the girl find herself? barn, room, garden, store.
What were the mirrors made of? silver, gold, pear], silk.

¥
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What were on the slippers? rubies, pearls, opals, diamonds.

On the following pages are more paragraphs just like
this one. When the signal “Begin” is given you should turn
the page, read the first pavagraph and und lerline the best
of the four answers to each question, just as you did hera
When you finish the first go on with the second and so on
until the signzl “Stop” is given. The purpose of the test
is to see how many paragraphs you can read and mark
correctly in a short time. Don’t waste any time. Don’t
look at anyone’s paper.

1. Lampy was a firefly. Here it was the Fourth of
July and he did not even have a firecrackert Anyway he
was going to stay out and enjoy the night air. He flashed
in and out among trees. Suddenly he he2ard some one say,
“QOh, see those pretty freflies I have seen to-day.” Lampy
was very happy.

Lampy was a— Dbeetle, firecracker, firefly, ladybug. Some
one thought Lampy was lovelier than a— robin, firecracker,
firefly, tree. Lampy was very— sad, angry, weary, happy.

2. At first when man wanted to cross a deep stream,
he had to swim across. It was not long bsfore he found a
better way. A log drifting in a stream gave hixa the hint.
He could rest his body on it and by using his hands., he
could move along fairly fast. So the log was thz {rst boat
and the human arm was the first oar.

Man first crossed the stream by—  riding, rowing, swim-
ming, driving. When resting on a log he moved along by
means of his— feet, hands, oar, stick. The first boat was a—
canoe, motorboat, raft, log.

11. Thorndike Test of Word Knowledge Fornt

Look at the first word in line 1. Find the other word
in the line which means the same or most nearly the same.
Draw a line under it.

1. arrive answer...rival ..enter...force...come
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2. seize shut...take...squeeze...put...seek

3. receive return...certify ..grant...expect...get

4. separate  suppose...attend...part...make equal...look up

5. arrange put in order...hasten...distance....frighten....
charge

6. ignite ignorant...congest...shoot.. kindls...swindle

7. knack tarn...trick...cut down...break...trait

8. sacrament miscreant.....proscription.....sacristy....rite....
sacrilege

9. nausea influenza.....mildew.....tumult... shell figh.....
disgust

10. palter trifie...tremble... hymn... meander...commute °

FLOSL A ke F 3 PR GEBE

I. THE SENTENCE (Separate paper)

A. Define simple sentence; complex sentence; compound
sentence.

B. Rewrite the following, changing nothing except
punctuation and capitals.

1. He was never seen again, he had answered the call

of the wild.

2. Finally he thought of a way to earn some money,
putting on his hat and coat he went out.

3. When we at last arrived. The bug was gone, we
could see it nowhere.

I1. Punctuation—

A. Punctuate the following sentences:

1. The game begins at two oclock said Mary.

2. We ran as fast as we could for the car was about
te leave.

3. John said that he couldn’t go on Monday.

4. Where are the boys said Arthur, They are very late.

ITT. GRAMMAR i

A. Cross out the incorrect word in each sentence:

1. 1In this book (is, are) found many interesting words.

2. The central idea in these two parts (is are) the same.

E
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B. 1In the blanks, put the form required:

1. He . ... {(past active of RUN) to catch his train.

2. When the bell (. ... (past active of RING), he.

C. Cross out the wrdng form— )

1. Who would have kurib, buown the difference?

2. If any of the pieces is are lost, it they should be
replaced. .

IV. A, Write a summary of the following paragraph,
in one or two sentences:

From boyhood Woodrow Wilson “knew where hz was
going”. Although he was not especially clever as a youth,
nor unusual as a scholar, he had a clearly forms=d purpose
suitable for Later life. A picture of ths great statesman
Gladstonz hung above his dask.  Oa his card, half in jast,
he onca wrote “Thomas Woodrow Wilson, Sznator from
Virginia.” H= dream2d of taking part in the great politieal
drama that he found so interesting in his study of history.
With this definite purpose in his “one-track mind,” hs Follo-
wed step by step the path that led to his goal.

B. Write a paragraph of at lzast one hundred words,
using the following sentence as the first sentence:

There are many reasons why I should go to college...

V. Write sentences using the following words:

a fraid...dead ...like (preposition)....a go...born..live...
hardly...attention...down...filled

VI. Write a composition of at least 300 words, on one
of the following subjects:—

My Favorite English Book. My Grea test Failure.

My School My City

VII. Read the poem carefully. Answer the following
questions:—

1. Who is writing this poem? 2. To whom is he speak-
ing? 3. Where is he working? 4. Does he like his work?
Why? or Why not?

God, we dont like to complain



We know that the mine is no lark—
But—there’s pools from the rain;
But—there’s the cold and the dark.
God, You don’t know what it is—
You, in Your well-lighted sky—
Watching the meteors whizz;
Warm, with the sun always by.
God, if You had but the moon
Stuck in your cap for a lamp,
Even Youwd tire of it soon,

Down in the dark and the damp.
Nothing but blackness above

And nothing that moves but the cars ..
God, if You wish for our love,
Fling us a handful of stars!

IR A
Al BE—2E SO W A BRI e b
4] (sentence) Ay HkFH, 0 :n’rﬂl/l/!‘%‘ﬁil

Infinitive 2 B3 A7A8R, a8 bl &) 2.
HE F A ¥ :

AN

7

Lf‘ H 'fq/)f(—ah [“talf [lj l}l IIL) &%mzq’ﬁi’v Hi H‘ F/F
ZURERT BT PR , KR, 2l S BB W, SO T

i e o T 2 Jt Al 186 2R
YIRS (R - =
1 Write a short Composition on the Subject:
“China needs more technical men”

11 Fill the following blanks with appropriate words:

I am taller than...... (he, him)
He has writter a letter to...... (1, me)
...... (who, whom) did you give the money to?

U N A

He was received with respect...... he went.

B A B

I. Correct the following sentences:

Some one entered the house, just...... I left it.

=
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1. It began to rain, and we started home.

2. John was disappointed when he failed.

3. I was walking along the street, when I met my
friend Mr. Chang.

4. He neither succeeded in scholarship nor business.

5. He almost ran a mile.

II. Write a short essay on the Subject.

“How 1 spend my spare time”

ITI. Translate the following Chinese into English:

I A RIFERBAAVR R A GRS R oA T
AFERE S 6 AR AR T BB LU AR S s B DR R
IEAIBOH AR B S A B R HE R TR b s ) 1D ek
BN e B —J2 B Sy AN BGER B AR WA R L R AR (54T 1 4
SRR MG SRR

AL OSEodn ¥E U SR OBE

I Copy the following list of words. After each word
you are to write another word which means exactly the
opposite. For example: after ‘come’ you write ‘go’ after ‘man’

you write ‘woman’. The answers must be the same part of
speech.

Happy, Happily, Bright, War, Bravery, Maximum, Flood,
Poverty, Kindness, Generosity, Honest, Relative, Expensive,
oid, Lawful.

II Correct the following sentences:

He say she is come.

The is died twenty years ago.

Because he is honest he is unwise

What we does unless not right.

It is hard to understands the really value of books.
Giving I a dollar I gives to she. |,

The tree outside the winder I planted today,

China need for today was a poor army.

To studying for service.

Careful to steping of ice.

CP XTI T W=

—
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IIT Write a letter to a friend of yours asking him to
send you a copy of dictionary.

IV Write a theme about 200 words on the following
subject, “The Happiness of Reing a Modern Man”

V Translate the following sentences into English.
i iy i“"'*-li PN L L > T A — AR 2 0D
o WH SLAT AR A RIS IR R R R IR 5 N BB AR
EAREE S SRR Tpand i o AR ey o RIMPLIE SR
PR a0y % > SO SANEERET o
e I AR R }1:'.

Translate the following into Chinese:

“The fisherman in our study of personas has to be
distinguished quite sharply from the seagoing man. Maybe
the latter learnt the first tricks of vavigation from the river
and longshore folk, but from the very beginnings of history
we find him trader, slaver and pirate, and he falls under
the second broad class of personas we shall next consider.
The first rveal sailers linked the seaways with the desert
routes, but the villages of the fishermen spread along the
rivers, dotted lagoons, and sheltered in coves and inlets away
from any ports or cities.” (Wells)

Write a theme of not less than 500 words on the follow-
ing subject,
“Medicine as a part of Culture for New China”
Correct the mistakes in these sentences:—
He is like to play very mueh.
The doctor came as soon as he cam
Did you see what was he doing?
We should obey to God, no matter if what happens.
It does not belong me, so I cannot boorow it to you.

mﬁ)lH CRE0 RS /g

J’\}‘Uﬁ"jﬁll }%&U‘Lul\ Taé
The poor man who you has gave a bread is a thief.
Let me know the time you will come.

FL3

NE‘HH. I N
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3. You are diligenter than me.

4. Have finished his work he went to home

I AR A 4

1. The professor is going to investigate this problem

2. I do not know what you know, but I know that
you do not know.

FLNCECE 3o 1 O Fik

Note: Three hours. Answer six questions, but the first
four must be answered. one may b2 chosen from 5 and 6,
and one from 7 and 8. Please wrile on one side of the paper
only and leave a wide mavrgin at the left.

1. Wrile an account (at least 300 words) of the libravies
and library movement in China today.

2. Following is a list of authors and titles of famous
books. Rewrite about twenty of them (all if vou wish},
putting after each author, the title which properly belongs
to it.

Homer George Eliot Benjamin Franklin Robinson Crusoe
Oliver Goldsmith The Odyssey Thackeray Washington Ivving
Jonathan Swift Sir Walter Scott The merchant of Venice
Twice told talez Pilgrim’s Progress David Copperfield Dantet
De Foe John Milton Nathaniel Hawthorne Vanity fair The
vicar of Wakefield William Shakespeare Robert Louls Steve-
nson John Bunvan Silas Marner Charles Dickens Gulliver's
travels The sketch book Treasure island Paradise lost
Ivanhoe.

3. Translate from English into Chinese:

The strengthening of country life is the strengthening
of the nation. Agriculture is not the whole of country life.
The great rural interests are human interests, and good
crops are of little value to the farmer unless they open the door
to a good kind of life on the farm.

Theodore Roosevelt.
A peculiar result of farm residence which must bz noted
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and carefully reckoned with is the evidend fact that such
neighbors as farmers have are also exclusively farmers...If
we would come to an understanding of the case, we must
think what would result if lawyers had no neighbors but
lawyers, if teachers had no neighbors but teachers, if all
blacksmiths were separated, all butchers lived in groups by
themselves. This separation of farmers in residence and
industry means the farmer has only the direct personal con-

tacts arising from the requirements of his own occupation.

The universal substitute for a variety of human contacts on
farms is found, of course, in the indirect medium of literature,
of which it has always been known there is little enough
in rural life.

4. Translate from Chinese into English:
FUCAIL B e denl > s asrE2B—8nmEm L
o S BEEAD BRI o HBEFEAE AL
U 2BIR % > MR > Uit B ask > R %
SFHFG R R AR Y Rl en B D PESERT RS > JESRTA > BETT
VWP R AT R /T N > S LA At
WG o IRUBUCH BT AT SR S8l > COIRTR RIE »
A BESRACERE M IME— 535 o« FIBMRE i » VB &R
o 2 BEBY BRI TASE > RIS AL A R R e bl > U
RIS Z > Wk B =4k o

5. What famous Iinglish book have you recently read
in Chinese? Give a brief account of this book in English:

6. What story. or work of fiction, do you like the best
and why? (The answer should be fifty or so words in length).

7 Correct the following: He works hardly in the
library every day. Let the librarian to get the book for you.
l arrive in Shanghai and live in the hotel one night before
L come to Wuchang. 1 finishing to reading Silas Marner last
vear. In the today time he have to go Nanking. When the
sun set down I backed home. Tom Lewis was born in 1875
and war died in 1890. He put the book at the shelf. That

>

C:|
X
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man is very intelligence. All children likes play and each
have many games.
8. Make complete sentences using one of the following
phrases in each sentence:
A In spite of At the beginning of In view of As soon as
‘ In the beginning The fact that Inregard to As far as In
Bl the day For instance.

x
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© =t ee
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12. 2 apig i ABCEH 22 Affa% 60°, Jup9ig21:4% AB
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BC=70R,CD=60R, DA = 100 JQ sk JaIY 38495 22 i K
13. #&#frsin~1x + 2co8-'x = —2%}’—
BRYAT RN
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A BHEARSE > B AR 150 K45 o U Fpcgny » C (FT54f% o
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: cosze Feos + 1 .
4. (a)B— ~=cot O
(a) i sin 20 +sing b

(b)fHFsin 30 =cosQ -
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T.ZfHy =x-F1.2x =y -1, x +y=TRH LA ?
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10,531 cos A cos B cosC=cos(A+B+C) +cos A sin
Bsin C+cos Bsin Csin A +cosCsin AsinB.
BB LB H A ¢

1,2,3 =i 5w L Z E AR E A R]
4. e i fERkz=y+1,y—z=x,5x+y+2z=0.
O R 2SR H LW, o AL ?
(log2 =.30103)
6. 3 fltc?=a®+ b*—2ab cos C.

TR 1248 455+ Co4 )= n(dat—1).
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vy FBW(1) Cos2ex =1 —2Sin%ex

xX+B o x—R
5 Cos 5

(2) Sirex +Sin B =2Sin
ARG wRTEN i
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A NE I A AR o

@) ki : AX2+BXY+CY*+ DX+ EY

+F=0, 27885 » WHRMIRE: o
B 37 ] A

1.

<2

Rechne die folgende Determinante aus:

2 1 4 -1 |
3 -1 2 -1
1 9 3 9 1=
5 0 6 -9 |

Es el zii bestimmen, wann die Reihe
1 1 1
IS S NS S i) Gl
kenvergiert und nd wann divergiert.
Berechne mit Hile des Msziveschen Lehrsatzes
den Afisdriick

J —24+2 /'3 i =9

Bewezise, dass die gleichuny x°+x*41=0 vier
imaginire Wurzeln beritst.

Beweise, dass die Summe der Hypothenuse eines
rechtwinkligen Dreiecks und des Durchmessers
Jdes eingeschriebenen Hreises desselben gleich dex
Summe zweier Katheten desselben ist.
Verwandle ein beliebiges Funfeck in ein Quadrat
Wieviel wiegt eine Hohlhugel aus Messing (6=
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8.4) von 12 un ausserem Durchmesser und 1 cm
Wandstiarke?
A 8. Beweise sin 2A 4sin 2B +sin 2¢=4sinA sinB sinC,
wenn A +B+C=180° is
9. Lose die Gleichung tunA +"\/ 3 eosA=0 auf.
10, Wie lanten die Gleichungen der Tangenten der
Purable y2? =8x durch den Punkt P3 (335), welch-
er ausserhalb der Parabel liegt?

[ 37 #hiL RS
1o s+ o+ ax+r=02Z G, B, ¥ 1—
p+a—r7=0. kAR L
I S - S S
= +1 B +1 ¥ -1
THHLZ =R AR

I T 1 1
.h:%}?ﬂ 10g2 - log;s + 108‘4 e 10g5 + ............

15— WCBh AR 0
B, =il x—xyTax? =0, x—x,y-lax?=0; x—x
V-tax§ =9 Mg = 5 RIALT AT
43R 2 T SRR AR o
b.3% u=arc cot</ cosxX —arctan</ codex,

sin u=tan gz’i .

Lo

I 37 g i R
B =1
1.3k2g2tan” ! L 4 tan™) ) =T,
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248 A BRI 2 M 4530°, XAEARLZ 7 B
BRI A5 18° » S ABZEIMER DR GG

_ T2
——— tan18° = A =
S @vbray Hejstan J 1=5"w5.

3°3kFF Sindex —i8index +10sinex = 16sinfex
4.3% a,b,c 5= ABCp# A,B,C Zjq:2i%k
PR R B AT Y, ¢ '

2 2A
a a c0s o =0.
b b2 cos

o C
c ¢ el
‘ 2

5. 16cos® O +2sin?@ ++12c0s? 0 =10,
94
L. 23 F AT A I 7~ ¢
(a) .003x% —.012xa —.015
(b) x*}-2x-+1—4(x+1)
2. FREY P RIS FR
1/x-+2/y-13/2=3;
(a) % o/x—A[y=3;
6/x-FTy=>5%o
Txv—8x2=10;
(& { 3y?—Uxy =18
3ok FAIZ RIS :
(a) (%a~®—12a %b-*1-lb1)}
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® f{at o oB)F )

4 AUET- L AAIE - IEEEREN TR - FA
RER AR PR SR R s =T I AT s B
G R TG » BT B 2

b FAIG R »

(a) y=x"—3x2—6x8 (b) xy=12 X—y= 2

2 i #4810

VAR~ 2 MU R R SR 40A B 55 MBS 2ok
A7 R R AERARYSE o

2. 4RI = ABC 2B ABrR 2 —BVD AR 8 »
RITHNE > FUEEZEHY D K& E, i DT-DI = AC.

DF4+DE—AC,

3. I 11 = 798 2 8 IR A A I A 7 (I 1% kg 2 o

4%mﬁm@%ADmmA%mmm’ﬂﬂﬂ)m@ﬁ&
KEC,E&'E"}‘H&;F@ADU]?MLE.Z'—*;&!E:Q'JB & T=BCxBD,

5. DY 75—= TQ?&QBC;Z@L%}AB&A(JZ ey s S
ANAUC= A ABF.

IR
1. 2558 PR o 0
x4—12

(x-2)° (x*—=3)

2.48,1,4,1,5,9,2,6,5,3,5,8,9,7,9,3 2 » 4R
LG - XA PIRAEET AR Z 0

3. MOWZATMBITR » JUT=0 - Shine 1 18 5%
> BB CHENBHRES - ok S AR 28R4 o
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4. PRI AR —ARAR2 I 1) 3 o AR B /IR 55 B

+ x5 x 10x21-8x —120 = 0.
SRk I T A RRER L © 235x 4 41
2y=10
TR Aol

L3 MR IRIC, KCs 2 B2 B REUST S oRIE 72

N
C; : x*}y*—4=0,
C, s x*1y*—2x—4y }4=0.

2.3k kL A I ARx — 2y -k = ORI B i B xy -Fy*—
dx+ 8y =047 » St » sl - FRAEE LW
ZhLiE

3. [ R B AR AR IR M ity -Sax = 02 GTiR » kUl
M SRTEAR  2C 2 TR - MR Ra SR e 2 TR

4, S R B — S AR ARAT S IR = S50
Z I RHEEZ 60 » R -

5.5k F A R o SRR ILE ¢ @ =a(1—cosB)-

6. kA A 7300 I 20 (R S0 sy #0057 e 15 838 B R b R

x2J-8y%— xJ-0y — 24-3-k (2y* —x —3y-}-2) = 0.

ERALY P

— Yy RTR3-13x2 4+ 3x +3=0 4 o

T Rl —j—+§7—%+—;—z ------ AT BFRPEZ o

=~ R AT A A B A T U =
G ARSI RRREWIZ ©

1 R 1) Pl e T = 8 R s e T
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0 24— R IR 0

iy RFF(cos © +isin® )n =cos n® +sinn O .

75 kR R sin2x secdx + £0s2x = cosbx.

A It ARx® —y*=T E (h k) B2 i EeGH (0,6) 1Y
skh,ko

A —[R]EREE (1, 3) B 3 S i + y° = 8x + Ty =02
ARl 15 2x — 3y = 6ok B[R 2 HFEk o

TSI R
— > (2) M FRZIA T 2

3x  2x x
e +e +e +1
(o) 30 FaCIefl « 1+

&
.) 2
T4at o
Ty

1 1
Zex24px+a=02 TS ., B FRPJ.;( s E}%}%ﬁﬁi
Jifgsk o
=ikt .
b+a a—b a
¢+a b—c b | =3abc—a*—-b?—:3.
e

{ a-lb c¢—a

Ul S —ifk B — 4 P AR FETOO0 - UIARMUET 04 |, i
SEMTOOTE » SRISTHE 2 AT » KUuik BARL s A8
THAT?

Ty ABCDIS— M #29 59E ABf DCHIZg i E, ADHLBC
MG » LE M LG 2 =4 » EF RGEAIZNDR
EFLGH.
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e = sina 14 cosa
A s
AR 14 cosa sina

DOy ki S
— R FHEFFE x*—3x—6/%xT—3x—3 +2=0
o e x2 4 5x 4 62 B i
S~ PR - T8 5 8 HRZ HF—E)
o SB—HF3H - S THAT T > = AATIIH - > B
FFHZELH KH o
by Eam= A= mk = kB =ME o
Ty Zfg ABp ADC Zeh g E;BE ACZ 288,
mF, k#HABCF=2, ABFo
7o AT F A58 2R
0 tan (F5)= I
(2) 4 £in20° sin 40° sin 80° = sin60°
Ly RBAMRX 2y =S MH+y?—x 2y =04pf] o
SO PR R - SRRk o
b 37 TR
GEOMOTRIE
1.Donner. avec demonstration. le volume d’un

= 2csca

tronc de pyramide.

2. Un tronc de prisme a psur base inférieure un
paraliélogramme; démontrer que sa base supéridure
est un parallelogramme et qu’il est &quivalent a un
prisme obtenu en menant par le centre de la base
supérieure un plan paralléle 4 la kase inferieure.
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3. On donne deux droites R et R’ non situees

dans un meme plan, et un point A. on considere

gz tous les cercles qui ont pour centre le milieu de la

perpendiculaire commune a R et R’ et dont Ia cire-

onference rencontre ces droites en M et M’. Trouver

le lieu de projection de A sur les plans de cercles.

4. Couder un trone de pyramide pour un plan

parallele aux kases. de facon que la section soit
moyenne proportionnzalle entre les bases.

5. Trouver le lieu des points d’un plan tel que la
somme d:s carres de leurs distances aux sommets
d’ un paralielepipede doit ega le ala somme des car-
res de leurs distances aux sommets d’un aitre para
llel=pipede.

6. Dans ’interirur d’un tetraedee. si 'on joint
un point o aux sommets S.A.B,C. Les droites SO.
SA. SB, SC rencortrent les faces opposees en S,
A’, B’. C’. Demontrer que 'on a:

S0 A0 PO cC’0

>s taatwe toc =
TRIGONOMETRIE
_ 2tg’x te?2x

1. rifier Videntite;: %7 = T
Verifier 1’identi Thtgix Tk g

2. Calculer sin 4a et tg 5a.
3. Si l’on a, entre les angles A,B,C d’un triang-

le, ’nne des 2 relatons suivantes:



— 21 —

cos (C-B)
sin A-}-sin (C-B)
sin?A = sin?B + sin?C.
peut-on conclurz que le triangle est rectangle?
4, Resoudre le systeme d’equations suivantes:
(X sin a+y sin 2a=sin 3a
(X sin 3a+y sin 6a=sin Ya.

tgB

et rendre la solution calculable par loga ithmes.
ALGEBRE

V1F 4+ V=T

~NT41 + V=]

sin 6a, tg Ga, et ?

1, Caleculer:

les racines ginquiemes de (-243),

2. Vemontrer que le produit de deux nombres com
plexes et le produit de leurs conjuguees.

Prouver que le produit de deux facteurs dont cha
cun est une somme de deux carres est la somme
de deux carres.

3.-Resoudre resp:ctivement les deux systemes su
ivants:

rﬁx—3y+z-]1u=3 r2x—-3y+z——1]u= 3
| 5x+y —2z4+3u=16 | 5x+4+y —2z+ 3u=16
13x—2y+32—-16u=7 3x —2y+43z—16u= 7
Ux+y+22—5u =2 U xty 42— su= 4
et discuter si les eguations suivantes sont compat
ibles:

T



.99 _

i+ y+2z— Su= 2
5x4+ y—2z— 3u=16
2% +3y+ z4+ u= 2
2x—-3y+4 z—1lu= 3
3x—2y+3z—16u= 7
4. Six dames et trois enfants sont assis autour d’

une table ronde. Combien de manieres peut-cn avoir
en exigeant gu,entre deux enfants se trouvent touj-
ours deux dames?
5. Chercher le coefficient du terme en X7 dans
le develcppement de (1 —2x+x%+x3%)%.
B 7 AL T2 R
RAR A
1. IEFAH R ox? +2x°+2m—53mx + 9x-10=0vf »
mPERFI T (2)RIMATAEE - (b) MRS T BOFRARSE (e) W
LI HRAR o
2. BAATEESO005E » FBLWIR > B AEERR - 8
FRRBERNAG AR 2 4% o i MR S iz M 8
FRAETFE24000 » e LRI B AN EAT 8L - PRET I
YOI » SR TRVEIRAE AT RACHIZHAT o
3. HMEIA - IRRAT20ER - B8 16 R > vl
=AY R R — AT I K Z B o
4. ez s h A b ET 213, S P RUL TR
I 12, B AT ?
b pERASAIEUIM - SIETH - M2 -
A BASHOR I » A L8 - 48 CRIOE TIHUIA 5
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1R FEOLEE R WU » BISOTIE R RAZ ik 2 %0 ¢
A ] Bt

L= Az meim A-3,4),B(-1,-2),C(4,3), & i)
RCPERGHE A THE 2 i B2 (D) RGBBEE 2 &
FR  (PRO¥GHE CIHEZZ N ABRFERR (T =R
B2 iAo
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2.x+y+xy=31
b)Solve graphically only 1.x2 —%29%2 =1, 2.y2 =7-x

II. a) Inx®4+mx+6=0 find m so that the differ-
ence of the squares of the roots shall be
equal to 9.

b) Solve 2 log x—1=log (x—2--).

I1°. a) Find the locus of a point which moves so
that its distance from the line y=-—7.5 is
always 1.5 times its distance from the
point (U,—%>).

b) Plot the graph of y2—dxy 4 5x2—16x 44y
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e 34 = cot’a—scot a
thence cot 3a S eotfa—1 B

V. a) Find the 8th term of (2--x)''; what is the P
largest term of (14x)' for x=2%/,7
b) Inthe Arithmetical Progression 3, 8, 13,
how many terms must I take so that their

snm be equal to 1000 at least?
¢) Given ny=2+06i, n,=5+3i, find n, xn, and
n,+n, algebraically and graphically.
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fERh A 2 b RAT 1R
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I. a)Solve ])( g =‘1“X"". 2)3vx-8=8x "y
141 ~ 1 1
Q 1 =25 9) .- =0,
b)Solve )x+ 5,2) < TUx
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b) In the arithmetical prog ression 50, 57, 64,
...find the 20th term and the sum of the
50 first terms,.

I1I. a) The sum of the squares of two numbars,
increased by the first is 2035; if increased
by the second the resuit is 200, Find the
numbers.

b) The sum of the squares of two numbers is
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IV. a)
b)
V. a)
b)

370, If the first were mecreased by 1 and
the second by 3, the sum of the squares
would be 500. Find the numbers.
If diameter AB=38, and volume of cylinder
=300, find the altitude AD. Find the
lateral areas of the cylinder and of the
cone AOD.
A sphere and a cube have same total area.
Which body has the smallest volume?
Prove the formula sin (a+b). sin (a-b) =
sina—sin%b
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the f a9 A L.
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Bei einer Hauptschlufsdynamomaschins von
2=110 Volt Klemmenspannung und 100 Ampere

betragt der Ankerwiderstand Zwischen den Bursten
W.:=0,; 2 Ohm, der Widerstand der Feldmagnete
W,=0, 1 Ohm, (a) Wie grop ist dee elektromot~
orische Kraft E. (b) und welche Warmemengen Q,
und Q, werden im Anker und d-n Feldmagneten in
einer Minute entwickelt?

Vier Krafte P,=2%kg, P,=%kg, P,=18kg,
und P, =25kg, wirken ouf den Punkt M unter den
Winkeln P, M P,=60°, P, M P,=75° uni P, M P,
=90% Man soll (a) durch Zeichnung (b) durch
Rechnung die grope und Richtung der Mittel kraft
Pfinden?

_ 3. Welche Temperatur hat das wasser welches
man erhalt, wenn man (a) 3kg His von (°% mit 4kg
Siedindem Wasser von 10(% unbergiept (b) 20kg
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Fe von 80%¢ mit 4kg Wasser von 20% ubergiept
(Artwarme=0.11).
4. Wenn eine massive Kugel von Platin auf

§

eine feste unelastische Unterlage von einer Hohe
h=40m herabfallt, um wieviet Grade wird sie
erwarmt? (Atwarme des Plating=0,0324).
5, Bine Bikonvex lingse hat die Krumming-
shaebmesser R;=30cm, R,=156cm. Sie liefert von
einem 60ecm entfernten Gegenstanbe in 8cm Ent-
fernung eine Scharfes Bild. Wie grafs ist das
Brechungsverhalinis der Linse?
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1. What fraction of the volume of a block of
wood will float above water if its density is .5? if
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itsi density in .6? i its densily iz .9? State in
general wkat fraction of the volume of a floating
body is under water.

2. If a 1000 1b, hallet is shot from a 50-ton
gun with n spe:d of 2000 ft, per secord what is
the backward speed of the gun?

3. Three bhoys sit on a seesaw as follows:
A(=75 ib)), 4 ft. to the right of the fulerum;
B(=100 1b.), 7 “t. to the right of the fulerum;
C(=x 1b.), 7 it. to the left of the frlerum. E-
quilibrum is preduced by a man, 12 ft. to the right
of the fuleru.n, pushing up with a ferce of 25 1b.
Find ¢’s weight.

4. Draw a diagram showing the construction
of a commercial ammeter. Explain the principle of
the suspended coil.

5. If the internal resistance of a Daniel cell
18 4 ohms, and its B, M. F. 1.08 volts, how much
current will 40 cells in series send through a tele-
graph line baving a resistance of 500 ohms? What
current will 40 cells joined in parallel send through
the same circuit? What current will one such cell
send through the same circuit?

G. How many caleries are given up by log.
of steam at 100°C., in condensing, and then cocling
to 20°C.7 How much water will the steam raise

2
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from 10°C. to 30°C.*

7. An object 2 em. iong was placed 1 em.
from a convergirg lens and the image was formed
40 cm. from the lens on the cther side. Find tlre
focal length and the length of the image.

8. Tow men, pulling 50 ib. ecach, lifted 300
Ib. by a system of puileys. Assuming no frictirn,
how many feet of rope did they pull down in raising
the weight 20 feet?
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1.

A man weighs 75 kilograms. What force will
he exert on the floor of an elevator.

(a) ascending with an acceleration of 150 em.
per sce. per sec.

(b) descending with the same acceleration?

A mass of copper whice is hollow inside weighs

575.5 gms. in air and 500 grams in water.
Calculate the volume of the cavity, assuming
8.92 to pe tne dersity of copper.
If the earth were a perfect spheea at rest, the
value of g, the acceleration due to gravity,
would be the same at all points on the surface
of the earth. Taking enly the rotation of the
earth about its own axis into consideration,
derive a relation giving the apparent value cf
g for a Place of latitude.
(a) When a bullet is fired into a target, what
has become of the kinetic energy of the bullet?
(b) 100 grams of water at 4°C are contained
in a copper calorimeter which weighs 60 grams.
50 grams of an unknown substance at 100°C
are dropped into the water and the equilibrium
temperature is found to be 10°C, Assuming



— A ——

the specific heat of copper to be 0.095, cal: u'ate

that of the unknown substance.

What is Brownian motion? What is the source

of the energy which keers the particles in

motion?

What do you understanl by the following?

(a) the electron,(b) electromagnetic inductio
n,(¢) electiic potential,(d) X-rays.
Suppose you have an electric iron, rates at 500
watts and 110 volts, and a number of light
bulbs of 100 watts and 110 volts each. What
arrangement must you make in order that you
may use the iron at 500 watts with a 220 volts

supy ?

(a) Explain the following terms:—

(1) dispersion,(2) double refraction,(3) Fra
unhofer lines,(4) dichromatism,(5) plan
epolarized light.(b) What is meant by tot
al reflection? Derive arelation between ¢
ritical angls and index ofrefraction.

A thin convex lens has a focal length of 20 cm.
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A circular object 1 ecm. in diameter is placed
30 cm. from the lens along its axis. Find the
position and the size of the image of the object.
10. What is the fundamental difference between
sound wave and light wave? In our daily ex-
perience, it seems that sound can bend around
an obstacle while light travels in straight lines.
Is this distinction always valid? Why?
FL P B
— AR R
— v B TARWIESCH$hE k> i P ok 2R g
2 2 BFHT KRANZIRB ) 5 el R R RIAE
i ko
2 RO Z B 1 P17 - QA HIIEZ
JERFRPIK » sk FEZIFIR RIE N ZEE0 o
= GEHRZ B o T AR A WY P - TR IR - a0
» EE IR BRI 2% T BB 2 A 2T » SUBRLZ o
P9~ EBE O REFRIFL O 1 BRI 2B T - SR 2
» FFFCIML IS TORRAE » SR A% B D 27 3 JEE LA B SR Wi Vit
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ARG AR
— v R BN - BRE A BRI R BER T ?
= B SRR A R 0
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PR (PR RE)
1. Explain the following: weight, centér
of gravity, acceleration ,specific gravity,

efficiency of a machine.

2. Describe some effects and applications of at-
mospheric pressure.

3. Explain the 3 modes of transmission of heat,
and give examples.

4. What do you know about the “‘relative humidity”’
of the atmosphere? What is its importance?
How is it measured?

5. What are the chemical effects and applications
of electric currents?

6. Explain Pascal’s Principle and Archimede’s
Principle in Hydraulics. Give some applications.

7. What are the practical applications of the ex-
pansion of solids when heated?

TR R (AR b TR R AR E—T)
1. a) Explain the difference between mass and
weight. 1If a force of 1000 dynes produces
a constant acceleration of 9.8 ecm/sec? in a
body, find the mass of the body.

b) A stone is tbrown up vertically with an initial
velocity of 50 m./sec. How high will it rise
and in what time? What is its velocity,
when at a height of 100 m.?
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2. a) Explain the laws of reflection and of ref-
raction of light

b) Explain Hooke’s Law; what is elasticity ?

8. 2) lf 500 gr. of copper at 100°C are put into
300 gr. of water at 10°C, the temperature
rises to 20°C; find the specific heat of copper.

b) Explain some applications of the expansion
of solids by heat.

c¢) A liter flask contains 1.293 grams of air at
0°C and 76 em. pressure. How many grams
of air will it contain at 50°C and 50 em.
pressure?

4. a) How many calories are produced in 1 hour
by a current of 35 amperes in a wire of
resistance 2 chms?

b) What do you know about the chemical effects
and applications of electric currents?

5. a) Explain some advantages and disadvantages
of friction between solids. On what factors
does friction depend?

b) What do you know about electric generators:
principles—the commutator--a. c. and d. c.
generators.

FLSE TR AR
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1.HO—-80,~0O(NO)+H.,0-=> 2.BI+ H,0,-
3.Mg,N,+H.,0- 4.CaCo;+5i0,-
5.CaCl(clo) +H,S0,- 5.FeSo,+ K;Fe(CN )=
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1. NaCl+1,-» 2. KI+Cl,-»
3.BiCl,+ H,0- 1.Cu+HNO, (%) -
5.HCl1+HNO;3— 6.C+H,0-
7.Na+H,0-> 8. Fe+H,O(KEF) —
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Wie sind die Reaktionen von konz. Salzsaure,
verd Salzsaure, konz, Salpetersaure, verd, Sa-
Ipetersaure, konz, Schwelfelsaure und verd,
Schwelfelsaure mit Kupper bzw. mit Zink®* Gebzn
Sie auch die dazunotigen ‘theoretischen Evklar-

nnugen,
2. Warum mup man numer etwas Schwelfelsiure
in das Wasser hinzusetzen, um es elektrolys-
ieren zu konnen?
Kann man statt Schwelfelsaure auch Ko-
cosalz ver wenden?  Vorgange und gebzn die
chernischen Sleichungen an.
3. Wie gewnint man das Sisen von seinen Erzen
Geken Sie kurze Bescareibungen inber Rohersen,
Schmiedeersen, und Stahl.
4. Was heipt kartes Wass2r, vornbengehende
Starte und blaibende Harte des Wassers? Wie
entfernt man diese Harten?
5. Erganzen Sie folgenden Gleishingen:-—-
(a) MgCl,+Na,HPO,+NH,OH=
(b)AsCl;+H,S=
(¢)e+H,0 _ Bei hoter Temp.
(DHFeClz+ K Fe(CN) =

B 3 T

— > XA B

R Z AR FRIA SR o 7R FAUE
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(a)Ho+ LG22+ 21
(0)2S0,+ 0, 22280, (5 ) + 24
()FCL (511 ZPOL (g + Ol — 2%
U R AT R 2 fp i s Pl 1
() PR AERE A TR AR Thgh 1 (0347 w4 L1 es P 8
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(a) % EPPE 2 AR ERAR (b) bk s L8k (e )Rp & (d)
SR AR 885 (o) TRAbTK T 2 BT Kook AT E (£) By
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a9 SERE AR
(2) Cu+ HNO(Fi) —-
(0)K,Cr,0,+ FeSO, + H,80,—-
(¢)Zn+NaOH—-}
(d)Au+KCN +H,0+0,—-
(€)2NaBO,+B,0,+Cu0 Fo
()CaSiO;+H,F—-
TLva- RE TSPz TR0
(1) A RENEEEC2) I BRmR R (D) BRI RESR (D —fidhng
$ACH) A% v () T.N.T,
b iH PRS2 2R
(1)KH,PO, (2)Fe,[Fe(CN )]s (3)CaCN,
(4) Na,Sn0,(5) CH,COO0CH, (6) CH;COCH,
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(1)Ag+cone H,80, (34— (2)Cu+dilute HCI(¥)-
(3)KMnO,+HC1 —— (4)A1+NaOH —_—
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(5)Cl,+ NaOH- (6)BaCl+ 4,80, —=
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Mgt » sRHR--ERINECT) 51 B (2) B WoZ A0 - W
W% 5 106 R BT A S )

T~ SRR R A R RURE ¢ (1) kR - (2D Bk -
MR K (1) kTR o SUTRFR fpFad Sz 28 © (L5
LI > (2) fr I 1bE » (3) B35 ISR T
B (D ATIRAEREAROLTR > (5) &IV TE T AERE ©

F50 d F A T A2 s A DUk B 640k g 22 filiks:
GiEAE > AREHY (1) MU AR 2 oMt K
(2 BEBR IS 2 IR A AT LG T J5 T Hs IR -2 R (
Ol 2 T 1 1532 » REZRHARSY » HR20%)

B #i
— > AR AR AR 2 BT FEREIDIVZ ¢ (1) bR
» (2) &AL > (BIERE > (HDFETF > (O) LA o

T iRk FAIRAARIZTRET ¢ (1) &R BUBGERE (2 ) R
R SHERIAUE » (3) IPIRRS SRR » (1) 57X B
Ko

=R FAISHLZET @ (1 )Rk A 72 e ik
ZH o )R ML T - (3) 7 IRRETD FEifi
s B R > (1) BRELERTHER M7 o

V9~ FRFAET » JUPEVTATITIAST ¢ (1) 5 VULERRE » (2)
— & LR BT A ALER - CORMMMEL = » ()—R 1L
RMRILR > (O) BB RALE 0

=



e
H

— 10 —

Ty Ak (L) fRaR g SAbsk - (2 D4R R SRR -
(R WE » (OB »  (O)F 8% AR » g
BEREfTA7 » s LI RES Lz o

St N A ARG —FT > S0c. ¢ W 200, BRifa R
M50 c. i s WAIRMEINL. 00T > [BIWE S 2.2 BUE i)k »
KR — I UR P TR S a AEN TRh T T

Lo TR TIRAREEE
— va- @Y FA)SA 002 » F RIS

(DAY RALAYr » (2) PRI RIERER > (3) 1855 K,
BN > (1) JhedE RIAE 0

b. (1) ZAALBAE LGRS - (2) COFRET GRS (Pase)
> (BB EL R IRE > (DB ALY - ()T
ST IR (CYHFIG AR - (DU RR
b > (3) EALETIRERT » (9) Mz s T 4 FEsat.
> (10) Kk 2 Yo 2L (L ERER(E P R0RL R TR AR b B3
Rz o v

v adRIEE R PR AR SRR
(1)CL+Ca(OH),, [solid]=
(2)Ag +H,S80,, [concentrated] =
(3)Al1+Cr,0; (beating) =  (4) K;mnO,+H,0+C0,=
(7)Na,CrO,+H,80, = (6)FeCl, +SnCl, =
(1)Si0,+H,F, = (3)C8,4Cly=
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1,

(a) Give the names and the symbols for all the
elements known ard arrange them according to
the periodic system.

(by What is Activity Series (Electrochemical
or Displacement Series)?

Arrange the following elements in order of their
activity and discuss their action on water and
on dilute hydrochloric acid.

Ag, Ca, K, Zn, Sn, Sb, Fe, Hg, Cr, Na and Pt.
(a) Name five oxidizing agents and five re-
ducing agents and describe their actions with
illustrations.

(b) One plate of the lead storage battery is
covered with lead dioxide and the other, metallic
lead. Draw a diagram to show the anode, the
cathode and the direction of flow of electrons
through the circuit outside the battery. After
discharge both plates are converted into lead
sulphate. Which of the plates is oxidized and
which is reduced? Why?

fa) Give four experimental facts léading to
the development of the theory of electrolytic
dissociation. Interpret these facts in the light
of the theory.

(b) Discuss briefly the genéral properties of a
gas with the help of the molecular theory.
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Name a process and give the principal reactions
involved for '
() The mamifacture of soda ash and,
(b) The fixation of nitrogen.
Wiite equations for the following reactions:—
(a) Potassium bichromate, ferrous chloride and
hydrochloric acid.
(b) Potassium permangauate, hyirogen peroxide
and sulphuris acid.
(¢) Copper and dilute nitric acid.
(d) Arsenous sulphide and yellow ammonium
sulphide.
(e) Sodium thiosulphate and iodine.
Name five colored simple cations. If they are
all present in one solution outline a procedure
for their separation and detection.
From the following data, calculate the ratic of
nitric acid as an oxidizing agent to the tetra-
oxalate solution as a reducing agent.
®1 cc. HNO; = 1.246 cc.NaOH,
1 ce. NaOH=1.743 ce.KHGC,0,H,C,0,2H,0,
NaOH = 0.12 Onormal.

(a) Explain the following with illustrations: —

1. Condensation 2. Polyme:ization

3. Chlorination 4. Sapanification.
(b) Write the structural formulas of
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1. Naphthalene 2. Iodoform
3. Tartaric acid 4. Glycol.

9. Comrpare and contrast the chemical prorerties
of aldehydes and ketones.

10, Describe the preparaticn of the Grignard alkyl
magnesium halide reagent. Give three anplic-
ations of this reavent and illustiate with
equations.
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The numbers in brackets indicate the value
in points of each question. The candidate should
try tn answer at leas® so many questions tkat their
total value is 100, If more questions are answered,
proportional credit will be given.
1. (20) Give a stort definition of: epithelium,
gastrala, sporangium, parthenogenesis, cotyled-
on, mitosis, mimiery, limb bud, nematode,
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11.

12.

13.
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dominant (in genetios).

(10) Draw and label a median section of the
human eye through the eptic nerve.

(10) Describe the various functions of the blcod
in a2 mamnal.

( 5) What are the main facts in support of
the idea of evolution?

( 5) Which balf of a vertebrate embryo de-
velops first, the head or the tail end? Prove
this by mentioning some facts.

(10) Desoribe the structure of the mamnalian
heart.

( 5) What are the three anocessive urinary
organs of the Vertebrates?

(10) What are the functions of the nervous
system?

(15) Give a mcrphological description of three
glands of the mammalian body and a chemical
description of their products.

( 5) Wrat is meant by Mendelian segregation?
(10) What general types of skeleton do you
know in the whole animal kangdom?

(10) Make a sketch of a normal curve of
variability and explain what it really represents.
(10) Mention some characteristics in parasites
by which they differ from free living species.



— 106 —

14. (15) Describe the earth worm.

15.  (15) Mention the various organs or parts of
organs into which the three germ layers of a
mammal develop.
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1. Limited war, perfect war, imperefect war,
hostilities. 2. Extradition, state, nation, fugiti-
ve from justice.
B PRI 28
3. The grounds upon which the doctrine of extradit-
ion is based are: that it is the duty of a mnation
to protect itself, as all criminals would flock
to a nation whi‘ch refused to deliver them up
to justice.
4. Extradition is a Political and not a judicial act,
even where the matter is covered by treaty
stipulations.
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1. Explain “Ex post facto Law’” and state the

conditions under which the law is known as such.

2. How are crimes classifiecd? Explain each of
the classes briefly.

3. How does a specific intent differ from a general
intent?

4. What are the classes of persons in whom
“‘mental incapacity exists to a greater or less
extent? State also the reason why.
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